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Part A
History and Culture

Consider the following gt
Harappan cultures : § statements on the late

I.  The late Harg 1
ol ppan  cultures are
primarily Chalcolithic in which tools of
stone and copper are used,

I1. The_'i: _ do not show metal objects
requiring complicated casting.

IlI. The Chaleolithic
Harappan phase lived in villages.

IV. In the Ilate Harappan phase at

Bhagwanpura in Haryana, burnt bricks
were not found,

Which of the above statements are correct ?
(1) ILMandIV (2) I,MandIII
(3) ILIMandIV ' (4) I IL I and IV

Consider the following types of pottery :
Black and Red Ware

Black Slipped Ware

Painted Grey Ware

Red Ware

. Northern Black Polished Ware *

Which of the above types of pottery were
associated with the Later Vedic people ?

<zgR"

(1) 11, III and IV only
(@)
3)

(4)

11, 111 and V only
I, I1, 11I and IV
I, 11, 111, IV and V

Identify the incorrect statement on the
contributions of Jainism :

(1) The early Jainas adopted Prakrit to
preach their doctrines.

Their religious literature was written in
Ardhamagadhi.

The early Jainas discarded Sanskrit
language.

They never used Apabhramsa for the

(2)

3)

(4)

people in the Iqter -

earliest imporiant works of Jainism,

(4)
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20fedoSod :

L 302 20050 JED £¢3 esen
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5063 | eben

IV. S & reden
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(SDPfoden) OIS  soH |(Daos
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(1) II, ITT So805w IV Sriesh

(2) I, I o8 an V S sdh

(3 ILIL I S8cky IV

(4 LILILIV 58c50 V
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4.

Match the following
L’-ﬂ'f . fji{“"fl
(Mahajanapada) (Capital)
A. Avanti L Ujjain
B. Koshala II. Shravasti
C. Vatsa ITI. Kaushambi
D. Anga IV. Champa

Choose the correct answer using the codes
given below :

A B C D

(0 I II 111 v
2) 1 1 v I
3 W M 0 1

4 M W 1 II .

Consider the following art and architectural
forms :

1L  Rock-cut elephant at Dhauli in Orissa

II. Yakshi figure from Didarganj near
Patna

IIl. Great Stupa at Sanchi in Madhya
Pradesh

IV. B80-pillared hall at Kumrahar near
Patna

Which of the above art and architectural forms
belong to the Mauryan period ?

(1) 11,111 and IV
(2) IlandIIl only
(3) 1,11 and IV

(4) 1,Mandlll

(6)
4.

&)
1808 73 HON 06 ;
ardes.| arderlIl
(aDaF*B3ScS0) (O™
A ®@doa I ézond
B. S¥o n (@Y
C. o5& m. a0l
D. o V. 0D
BHS as6s fhod GdHTriod JP
S SprrR) SochSod
A B C
(1 1 I 111
(2 1 I v

@ v m I

D
v
I
1
(49 I w I I1

8na E¢ ooy QoM Araread
HOnedood

I 28SR FO 3¢ vad THS
el

I er) Sdos'D 85660 S abl
Qo

M. HSHHBIS'D rod S He ST
ATH0

V. rér) AHod'R  HrE  S@
80 AOZPE) SOLDO

2 &6 HO0H doum GrTred’ e
erdd Tohdd I ?

(1) 11, 11 soddiw IV

(@ 11 Sbcin T Sredth
(8) 1,11, HI Ock IV
(4) I, 11 Sobcko 1
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6.  Consider the following items - 6. (808 ©oTOD 4 ando50b :

I.  Turban L eodrm

I Heavy long coat M, 2r8 Sdoed Feo

IV. Belmat v, 386

V. Boots V. aréy

Which of the items listed above were o83¢54 estoair 008 SIS wored F5en

i Sh wen p T8 IR
Central Asig? ka8 and Kushans from So80s0  Soar

St 20¢aho
(1) LIL I and IV

T ?

(2) L II III SHéasn V
(4) LILIILIVandV (8) II, I, IV SHdao V

an8ain V

@. In the Satavahana's inscriptions, the terms llm LILIL Y
Katakas' and ‘Skandhavaras’ mean T 1. masdde THTOSW  ELE SHOow
(1) The tax free villages of Buddhist monks ‘DOGSTTe’ R HIFe RO

(2) Military camps and settlements which (1) 27 Sgrne Dy e (Madren
served as administrative centres 2 doros Soonmr DTS PO

(3)  The areas of rock-cut architecture FHoren SHOAD ATTRreDd
(4) The areas of large scale paddy (3 o8 SHO THS Lo Ao
transplantations |rosren
; 4) Dpdor S8 Jodh TN o
8. Consider the following statements : |Sromren
B During the reign of Chandragupta-I, the
Sakas were defeated. 8. 808 |H¥LSo8 HORBoB0A
II. Samudragupta’s South Indian conquest I G050 Dedds, $%en LA AT,
did not lead to any permanent IL SSnGHd Sfe rosdd eEe
annexation. , . QS0 74 3¢ DOTVE rOAHTH .
Which of the above statements is/are correct ? B D8 SOS" DA/ HBSD ?
(1) Statement I only (1) (DEOS T Sovedad -
(2) Statement II only (2)  |ID8OS T Smes D
(3) Both of them (3) Bodr
(4) None of them L @ b e
9. In the Smsa_m literature, Vt:-'lll::r:ﬁw:t; 9. Holio! Fl'i":.”"é;nef '3ﬂﬂﬁ]' %m .
(1) Brahmanas who '::cﬁ::ned =, D S HATRS l2rsremen
(2) rich peasants W (2 TS SHeo &
o ho also worked (3) e 02 248 &8 pdoen
ultural labourers w BOK  Bomerd’ ¥ ds
v :Fi?hcmun:nl skin# fro 5080en SUTD Spsran
ffered from extreme (4) b
forest tribes who su &0 Hesas
% ser MBasey o 02 ONLDONS ewesd

DN TRNaa———
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List-1
(Pallavan Ruler)
A, Sivaskandavarman 1.

List-11

(Political event)
Samudragupta's
invasion

Kanchi came
under the
Pallavas
Defeated by
Vikramaditya-I1
and city of
Kanchi was
captured

Defeat of
Pulakesin-I1
and destruction
of Vatapi city

Choose the correct answer using the codes
given below :

B. Vishnugopa 1L.

C. Narasimhavarman-I IIL

Nandivarman-I1 V.

A B C D
(1 I I1 m v
(2 1 I v I
@ I m i 1
(4) 1IN v I I
Which of the following is wrongly matched
with respect to Rashtrakutas ?
(1) Amoghavarsha : the first Kannada book
writer

(2). Dantidurga : the founder of Rashtrakuta
kingdom

(3) Vallabharaja : the contemporary of
Al-Masudi

(4) Krishna-III : the famous rock-cut temple
of Shiva at Ellora :

Identify the incorrect statement regarding
the Cholas :

(1) The Chola Empire was founded by

{7)

11.

12.

Parantaka-l.

(2) Parantaka-] took the title
*Maduraikondavan”.

(3) Rajaraja-1 conquered the Maldive islands.

(4) Rajendra-I built Gangaikonda
Cholapuram,

&l
10. 1800 T8 H6&re oA,
Fh&l - e
(0L (ozdah SoSOI
arexsuchy)
A, ?:)Xaz,ﬂtf::)ﬁi 1. ;}m‘m
Qoo
B. DM 1L Sod sHude
ads5068'8 3000

C. SBDOFSEL ML DESreS-11 TS
4,48¢00, S0 SiG0

#5&5&6&5&@0{5

D. QOBSMSLIL IV, JeBI-11 L.020
SBcin TED SO
s SO0

BHS 255288 fhod ardrfod DB

HATFTTR) J00Fod

A B C D

(1) 1 II m 1

2y II I v 1

@ IV n I

4) III v 1 I

olairoei donodod od FBS 2O
Sy HBO0h
1) e3rDSEd | Incsed 5518 HIS
o
@) S0BSHDM : o ST org FOSdk
@ Sosoer: ©8-8r8 H05ORd
@) Syl : JSTER P
odHG htoaho

Sehedy ©020800 A8SW  (DSOID
thBocsod :
(1) ST Sooshax

o, i
gg-cémml “HEBT0BSS" &

DB

(2)

(3)
(4)
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13.

14,

15.

lﬁ'

Quwwat-ul-Islam mosque
by :
(1)
(2)

(3)

in Delhi was built

ltutmish
Qutb-ud-din Aibak
Mﬁ‘ud‘din I{ha'ji

(4)  Ghiyasuddin Tughlaq

The Persian traveller Abdur Razzaq visited

Vijayanagara in the reign of :

(1) Harihara-1

(2) DE\'Eraya-I

{3) DE‘#EI‘S,}'&II

(4) K.rishnadeva;-ajra

Match the following :
List-I Lat:J1
rﬂﬁ-ﬂkil Sﬂ-l-ﬂ-u (Area Dfl'hﬂ‘

movement)

A. Vallabhacharya I. Uttar Pradesh

B. Tulsidas II. Gujarat

C. Sri Chaitanya 111. Bengal

D. Tukaram IV. Maharashtra

Choose the correct answer using the codes
given below :

A B C D
(1) 1 11 I v
(2 11 I v I
(3) 1II I 111 v

111 w I II

(4)

Consider the following .stlatemgnts on Sher
Shah's land revenue administration ;

ified into three categories
g :::ntﬁewh?;::?:odum from the land,
II. Land was measured according to a

uniform system.

I11. Y of the produce was collected as tax,
Which of the above statements are correct ?

(1) IandlI

(2) IandIN
(3) IlandIll
(4 1, 11and Il

(8)
18.

14.

15.

16.

Iy

ads'D wd 8.a8.av0 ©F SR
kaleplel ATNTA

(1) =D

2)  BosdS-ab-0% d8

(3) w@er-ab-O0®

(4)  2OTES Solis

opb Sf ©F H000S MBS,

DEAHSHOR D58 Fodd
HoBBotrdd ?
(1) FFO-1
(2) BSorchbexn-1
(3) BSorchexn-II
(4) SyRBIorahen
1208 T3 HBHF Y00
ardei arderII
(28 Pbchal) (eSpa (r0e30)
A Srordgd | @8 (DBT
B. sheohow | Maoe
c. 13e3ch . Borrd
D. 0500 V. oo
BIDS 255008 FHOM GHTrA0D DTS
DAFCTTR) Jothfiod
A B C D
1 1I II III v
(2) 1 1 v 111
(3 II I 111 v
(4) III v 1 11

Aab r 7R Horos dorso » 1506

(DELSO5 HBBB0S0A |

L 20 Hod 53T adye egdomr
2R S0 STrenr SQEdoTr.

IL - 2rdod 868 dordo (D50

FOT .

W Soehh @ 8 ddoymr  Saren

S,

D DEOSOS DD 58D ?

(1) Tu8ciw I

(2) 18ciwn I

3) I 8cin I

4) LI S8chy I

III.
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18.

Consider the following Mughal structures |
L Tomb of Salim Chishti
II. Buland Darwaza

OI. Tomb of Humayun

IV. Jami Masjid

Which of the above buildings were constructed

during the reign of Akbar ?

(1) II and ITI only

(2) ILIIland IV

(3) L, IMandIN

(40 LILIII and IV

Match the following :
List-T List-IT
{Name of the {Position of the
Ruler) Ruler)

A. Husain Ali I. One of the Saiyid
Khan brothers

B. Murshid Quli II. The ruler of
Khan Bengal

C. Chin Qilich III. The Nizam of
Khan Hyderabad

. The Nawab of.
D. Saftardung | avedh

Choose the correct answer using the codes
given below :

A B C D
(1) 1 II il v
(2) 1II 1 v i
3 1 1 m IV
4) IV 111 I1 I

(2]

(80d TS SLored »BKS00d ¢

|
1L
I1I.
V.

3o Y Harse
20od Sorger
FOIICINS HATE
208D SR

2 Fdvods JIBD 056 HasroS
AdoTy ?

(1)
(2)
(3)

(4)

11 Sobcin T Syl
I1, 111 sSefcin IV

1, 11 SoBaso T

1, 11, 111 SoBadn IV

18. (1808 I3 HEFO 06

ardar] ardeIl
(0D D) (FeHD S50
A - TVRS & 1. Poid
o SFSdes a8
B. S00&8%O 1. Borrd ok
2o
C. O58:OSers Il oowrd Azro
D. dpBzofi V. @35 STS
A0S aHds Fhod adIrAod JSBS
AArTTR) JothFob |
A B C D
(1) 1 11 I v
2 I 1 IV I
@ m I m
(4 v I 1 I
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19. Match the following

List-T
(Kakatiya ruler)

Rudradevy

Choose the correct

given below :

A B C
M 1 1l 111
(2) 1I I v
(3 IV III II
4 m 1w I

(1)

(2)

Muhammad Shah >

(3)

(4)

I

1.
Prataparudradeva v

Ehe Farrukh Siyar >

({10)

List-IT

(Event /
Contribution)
Shifting the
capital from
Anamakonda to
Orugallu
(Warangal)
Thousand Pillar
Temple was built
Malik Kafur's
expedition
Marco Polo's visit
to Coastal
Andhra

answer using the codes

=)

-T—

Ty
19. 806 8 HB&Fe Yol
ada1 ardedl
(s$eaD (0!
TFersvdd) S)ew)
A SSTHo I o808
SHoB LN
(S&ond) S
O T )
B fonddsh 1L Son 0T HA
- QOTE0
C. &SHTD . Srds sHb
¢Socsalir s
D. (HEH&SBH IV. ol ss
Srdh o
585825
BHS 2SS FHOD AHTrA0D B
DIrTTR) dochTod :
A B C D
(1) 1 II I v
(2) O | v 111
(3 1Iv I I I

20.

§658 Tgverons OB SoESTR)
8otod :

(1)

(2)

(3}

(4)

2D ar > HErP Daird > airosb

ol > AeTE BF > aF esero 11

275rd ar > 2a5osEar > Swarand
ar > DEPP VAIS > 2r esero 11

DTFErD & > 23088 & > S
RAirS > TSNS > 2 &0 11

P VoIrE > =mrosE > >
TSNS 3 > 3 @se0-11 > 2S5
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{11

InShi L Bi- - o
vaj'y Hdmmu:tratinn, Dabir was :

Cer responsible for intelligence,
POsts and householg nﬂ'ni:: intelligen
The in-

Erants

(2)

(3)

The Enmnpnndmt to the king
(4)

The Master of Coteriii
the king in foreign monies and helped
Identify  the

5 correct
establishment of French se

ttlements :
(1)

f’{'f:?l“" Pondicherry > Yanam > Mahe >

(2)

- > Surat
(3)
> Yanam

Pondicherry > Mahe > Karaikal > Surat
> Yanam

(4)

Consider the following Indian states :
I. Awadh

II. Jhansi
II. Satara
IV. Nagpur
V. Sindh

Which of the above states were annexed by the
British due to the policy of Doctrine of Lapse ?

(1) LI IIandV
(2) 1,1 and IV

(3) II,IIand IV
(4 I, IVand V

Identify the wrong matching of poets and

their languages in the 18" century :
(1)
(2)
(3)
(4)

Tayumanavar : Tamil

Warris Shah : Punjabi
Kunchan Nambiar : Malayalam
Dayaram : Marathi

charge of justice and charitable

chronology  of |,

Pﬂndéchem > Yanam > Mahe >|

Surat > Pondicherry > Mahe > Karaikal ..

21.

22.

A

8 D0 oIS GhHE esad o

(1) Bd; S82mS0, darer SO B9
Sdroreds ardie Sirod @050

TR0 SOy Créyss TR =
i adss
Terdo S8 Dbz Bsnen SAD 358

HP, o@Hd soEmen JYErod
SHfoln DB SisHoeds ot
S )tns080d Hithd

oS FdoTre FHsD I0S solFard)
Hbohod :

(1) JArdS > FoAT 0 > diraro > MW >
L0558

FodT0 > direro > Jar > D85 >
TS

ArdS > rodEN0 > S > EDES >
airaro .

FoATI0 > Nor > §0ES > JrdS >
airaro

(2)

(3)
(4)

(2)
(3)

(4)

S0b ards orarjesd H08dodod :

I o558

L &F)

. JS=o

Iv. &hayb

V. ~od

S DES) oreds F82 o8 hies
@8 oo DD og doEmo
Drod ?

(1) LIOII8cV

(2) 1,111 H8ckn IV

(3 I, T SHBgkw IV

(4) TII,IIL, IV odain V

188 dmpod’ §den HNOAM B grhae

IS HOSFOED MBodod :
(1) esaiFadab : du¥o
2) 6% ar: Hoard

Boe Sodaird : hodirdo
Sairore Sord

(3)
(4)



27.

Consider the following statements on the
35 contributions of Pandit Ishwar Chandra
Vidyasagar :

I. His great contribution was for
upliftment of women in India.

the

II. He organized a powerful movement for

the enactment of Widow Remarriage
Act.

III. To propagate his social he

ideas,

published Sambad Kaumudi, a Bengali |

weekly newspaper.
Which of the above statements are correct ?

(1) TandII
(2) 1IandIII
(3) IIandIII

(4) I, II and 111 -

Which of the following statements is
incorrect on William Bentinck's reforms ?

(1) Introduction of a new land revenue
system in the North-Western Province

Abolition of ‘Sati’
Eradication of female infanticide

(2)
(3)

(4) Estahlisﬁmsnt. of universities for the

first time,
Consider the following events :
I.  Swadeshi Movement
II. Surat Split
11I. Lucknow Pact
IV.

Which of the above main events took place
during the extremist phase 7

(1) I,II and III
(2) IandIIonly
(3) IIIIandIV

Home Rule Movement

(12)

251

(4) ILILII and IV

- (4)

27.

@&

H0AE &iE5 dold dargRrib Do FA
DTeooD L0d HELSS HORED0S

1. roediod’n SHirdve e@Hidyos
echd TS Hrsdo e Fa)0.

. Debodh 50 g oo
Srrododdo g0 e9eh
F5308 S BSSTR) NOseroTA.

8% Fir2d sdtdod |wTrdo
=0l wéd Hond Fand ©F
Sorrd T, TODSEN

Bsfnilalelayla
2 (DEOS0S DD DDHD ?
(1) Todcln Il
(@) 150ak I
(3) IIo6ain I
1, I o8k 111

adcho Do3ol DHoddmedn (fod

HELSOS SO5IAE IO ?
(1) ooiuds omod &réd AT
DFTR) DS R0

@ 08D sTohdo

(3) R Thrsie XS

(4)  SnSSIOm D JOriecire o

1E08 Dontrdernd HONeSotod :

L 0587 adido

I Ard8 HO

M. of)adyodo

IV. oo &rd éarddgeoo

2O DS TES' D (DTS Soderden
(S SIS 2OAND ?

(1) L1 S8ackw I

(2) 1580 I S

(3) II, III odcin IV

(4) I, II, ITT obcin IV
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98. Consider the following events -

L Visit of Simon Commission to India

I.  Purna Swa

session T) resolution at Lahore

Launch of Dandi Mareh

% hﬂ'\"E mn_in By
during the tenure of Lorg Imi:gts Sk e

(1) TandII.
(2) land I
(3) 1II and II1
(4) I, II and IT1

Consider the following Revolutionaries :
Bhagat Singh

Sachindra Nath Sanyal

Jogesh Chandra Chatterjee

Ram Prasad Bismil

V. Chandra Shekhar Azad

Who among the above founded ‘Hindustan
Republican Association’ in 1924 7

I, I1 and III
11, 111 and IV

2 g8 -

(1)
(2)
(3)
(4)

1, 111, IV and V
1,11, il and IV

Which of the following is wrongly matched
regarding ‘Praja Mandals’?
-1 . Rajasthan

(1) Vijay Singh Pathik : Ra) 2

: a
(2) Balwant Rai Mehta Madhy
. Punjab
(3)

(4)

{13)

28.

(2]

1508 Qoddes HdMSotod
L Toom 200 2rdasd HEge

L b JrddesS Gdosod
aomS0

. Sod airisd |rdoo

erl 2048 D65’ DS DES), BTS
HoMedeS DD 28man ?

1000k II

1 sobaoiw I

11 S8 aio 11

I, I1 soBaiw I

(1)
(2)
(3)
(4)
808 DHSTBHS HOiB0S0s :
1L &8 doh

I $Hood dod

O &% o el

IV. e |58 DHad

V. Sol&3nb ezb

1924&5° 2rothTS BHDES oFHTHASD
TrHoD0S F8S ISt By ?

(1) 1,11 SoBakn I
(2) ILII SBckn IV
@) LI, IV So8aio V

(4) 1,IL I Sdcin IV

e Sod § Soo0dHod (§0d IS’ DA

- Sy 2SHESAS8 ?

NeacDh Bof rHE  oaFTe

2o 108 ordh DrE : HGHHTT
o 2ol Blrer: Sozrd
ooncs o : 20 )

(1)
(2)
(3)
(4)
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Constit
International Relations

L

Select the correct answer using the codes
given below :

(1)

@

(3)

(4)

Which of the following statement/statements
i/are valid regarding the office of the ‘Whip' 7

Part B
ation, Polity, Social Justice and

Although not mentioned the
Constitution of India, the office of the|
‘Whip'.has however been 'mcom;}rated in
the Rules of the House by the ’Le_nders
and Chief Whips of Recognised I_’nrl:ijaﬂ
and Groups in Parliament (Facilities)
Act, 1998",

in

The role of the Chief Whip of the
government party in the Lok Sabha is
served by the Minister of State for
Parliamentary Affairs.

All political parties — whether ruling or
opposition, will have their own Whips in
the Parliament.

The Chief Whip is not responsible to the
leader of the House but is responsible

only to the leader of the party that has
appointed him/er to the office of Chief

Whip.

L and IV
Only III
I and I11
II and TV

{14 )

31.

‘Y

@

g B

FOROrSAS, S, MAS 290 wob

2obbFHSS 6848,

‘D) SO OCrNE Honodod Bod |HEsy
(HEQSOS" DADD Tenarey wgeroy ?

L

III.

;O orarsofios” DHE)Sesn ek
D' SO0y
(Rr¥orgen) o, 1998'S wloh
FodS Ffen HOGM  HIrSe
Trdbden Hbdiy O IDe oo
Dgr Dobdred’ SoddsSswdod.

SO 5050,

SEHS (Hehes s 8 HD OD S
Fdhosd SSSfTe TH DFCh
00|e VS saradn.

o) ozfch rben - wosd oo
HAHE o JdDotns' -6
D50 DD Sotrow.

0P DD Jzr TchHHAL s
woroddld), mond DD DD DHADE
O /EDDH  JoHoDS T
TrODSOAS S esah areiped Sararcl.

&S aS088 Fhodh GaBrAod HBS
QAT 20thsod

(1)
(2)
(3)
(4)

1 5805 IV
I S h
11 50805 111
11 S8 IV

|
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(16 )

In the con isti
52 1 text of distinetions existing between

a Public Bil] anq , Private Bill. select the
Emtemantfatntementa that isfare valid -

L

IL

A Private Bill which has been

in
troduced by 5 Member of Parliament |

sitting it
ting in the Opposition and which has
been approved by the House will have to

be referred to the law department for
consultation,

A Public Bill js always introduced in the
Parliament by the Minister or a member
of the government party.

A Private Bill will not reflect the policy
of the Ewment but upon its approval
by the House, a Private Bill would have
reflected the policy of the government.
Public Bills and Private Bills, r&gg.rdlesa
of the differences between them, are
governed by the same general procedure,
and are required to be passed through

the same stages in the House.

Select the correct answer using the codes

given below :

(1) Il andIII

(20 ILIMandIV”
(3) Onlyl -

(4) OnlyIV®

S0 Dexn Hbatn |BAS D Hs F
SpEmre  Hobdjod, Severen ©O)
1D5ES / (DSOS dothTod ;

L

wasgos srfndy DERotn
At IDFIDES  bcn  F
a3roods o8 |2HE DD
Somdone o ~pod THH
Ardodded Gotnod.

SDE D NG Hod Bo
Sey > vy JeTotnd
HadndeEd.

28 DS D |DSs ITTRL
H8DoDotn TR 0P eIrdo
FoBs Sorgs, 28 |2ad Dé
&6 5 DR (Hedodod.

SDE DHeveny HOA | NS Devewn,
T8 DGy SEmRrod  Dowodo
Showm, 23 oo oo oot
Aarodaderany ooy Hisst o8
Sio or ot edrdodaard).

B198 2352088 8ok aHTriod JBS
RAPETRR) JothEod '

(1)
(2)
(3)

(4)

11 sSBaso 111

1, I SoBain IV
SER

IV Sresd
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(16) ®

55-"'5”0D
which of the following State Bill/Bills will |33. 808 T3S 2 Ol DVDVD oGy

pave t0 be mandatorily reserved for the aﬂ%ﬂrﬁﬁﬂ & b 8abg ﬁgﬁ)amva?

president’s consideration ?

L O T8 Jo20Hods §i,

1. A Bill that proposes to give effect to ad?d ArEod eden Jdborn
certain Directive Principles of State Hardod D,
Policy.

M Swodom oY el LR\ aT
5580 0h; DHew. wond ©d wdis
304 | D580 FoSDSEEAO.

II. A Bill requiring prior Presidential
sanction but which was however not

obtained under Article 304,

1. esssS 288 'R DO

III. A Bill that attracts the provisions of
EDalnod Hew,

Article 288.

V. aanéd zZde | S&Erved 5o
ToHH AVOHNN e Dalred
Foer Do, wond 38 2B Sold
SEFDE B0,

IV. A Bill seeking to operate a provision
that belongs to one of the Concurrent
List entries, but which is however

repugnant to any Union law.

&S adhS FhodH aadiriod A8
AT LI, dothsod :

Select the correct answer using the codes

given below :

1) Iand IV (1) TodcinIV
an

(2) I,MTandIV (2) 1,11:006ci IV

(3) Only Il @ 1SS

S6as 111
(4) TandIII W 1
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GS/1G/100

{17)

- fn"“""inﬂ statements  in

connection with the office of Comptroller and

Auditor Generg] of India (C

L

1L

IIL.

AG) :

C
AG can be removed by the President

only {
¥ In accordance with the procedure

mEntlnﬂEd i“ t-h'E' Cunﬂﬁtuﬁﬂﬂ but th-iE

Ot mean that the CAG can be
impeached from office in the same

does

manner as a Judge of the Supreme Court.

Some public corporations
exclusively by
auditors, and the CAG may have no

are audited
private  professional

involvement at all.

The CAG can conduct legal, regulatory
and propriety audit but not performance

audit.

The Cnnatii,:ut:ion of India has not

ified any criterion  for  the

appﬂintmﬂﬂt of CAG.

Which of the above statement/statements

is/are valid ?
(1) TandI
(2) OnlyIV
@) TandIll

(4)

11 and IV

4.

go| b

Y

L6chy  sAObasod @D

R0ACT (CAG) Soriocirds Ho20H0V
808 [BELSO® HOKBOB0A :

grergotios BNy TS
®MHEor Tladd Srigid CAGR
Seofotddt) SR LoDoFP
iohdrd S8 CAGR DG cnod

eD#ohocds R AR 8o seo.

g0y HOE sO0HS Rl
ITFaisd sbbo oo H8sEorr
wAaS Tohadeon HOc CAGS
0 je0 D0 FOBED D).

CAG SHEDS, DoHoSm SHOC
dirasrd; eddd Jfsarodiodd
TR HASGH wdES .

CAG AairdsRs rdeé oargolio
Qerodd |DSrErod DSBS,

D DELS [ DELIOS DARD Tewertn

DT 0N 7

(1)

(2)

(3)

(4)

I SoBcsn 1T
IV dr(ebabd
11 SBdin 111

11 So8akn IV




35' In CO ¥
Nnection wit},

Cﬁunc‘llm Whjch "
statement/ of the following
L

The GST Council was established as a
Statutory body, but it was later turned
into a Constitutional federal body by an
amendment of the Constitution.

II.  The proceedings of the GST Council will
be invalidated in the eventuality of any
defect in the appointment of a person as
a member of the Cuunm].

III. In the event of any dispute between
more than two states over GST issues,
the GST Council has to refer the matter
to be adjudicated by the Public Accounts
Committee of the Parliament.

1v. The GST Council is required to make
recommendations to the Centre and the
States on the threshold l.i.l:lllt--ﬁf tumw:
below which goods and sexvices Iay

GST
e:EﬂJPt‘B‘i o~
the codes
rrect answer Using

Select the
given below :

) mandl

w
, 2 1and
(3) Only v-

35.

4 |

Sien Hock DS H) (GST) SRy

& dowodod, 808 a8 g

|HELSNDHHD TN Ba)E 0w 7

20583 TS o8 SHDEDS Sogn

Fraosabod, oh ST Teriok

5380 orgor orargoll ATy Aoy

Sroyndod.,

m TS HEDSIT 2.8 S
DoHotEos ey e
AToRT= It Rl= V) A0S TS Sl
r&ﬁmm ezt 5.

L 2oHes Hddgom Do 0T J5d
oo o) BT dado B8,
2258 TS TODotn HDE
wfol) s akn) Tuw
Ao,

IV. 2208 508 &8 56 SBws) (rded
(IBX¥S) Hovan Soldo oo
olafos  Dardyen  Dobdor
SOLNOB, ) 50T S8uped Sy
SHOAD  VIoH  BIDE  wod

L

AT 0SS ).
OhS adiads FBodh andriod 89
REPEITR) Jocs'od :
(1 I S8ckw I
(2)  158ackn Iv
(8 IWVarsd
4 1 $3e0
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(19)

. Consi
36 sider the fﬂ]lnwing T T P

reference tg ,
the Election Commigsion of India :

I Th itut
e Constitution of India has debarred

the s
reliring Election Commissioners

fro
™ any further appointment by the
Eovernment.

In ‘Ancop Baranwal Case’ (2023), the
Supreme Court has directed the
Government to. treat the Regional
Commissioners on par with the Election
Commissioners (other than the Chief
Election Commissioner),

as far as

removal from office is concerned.

III. Since its inception, the Election
Commission had functioned as a

multi-member body.

The power of superintendence, direction
and control of elections to the office of
Vice-President of India is vested in the

Election Commission.

is/are valid 7
(1) IlandIll
(2) OnlyIV

(3) Onlyll

J4) 1,MandIV

(2]

arddh I 80 NS5 Donodod Bod
BTN IS TR TS Tl Te TnTe T B

[ 268 orarofio HG8 DB DAY
IR Eanacabod Do 5o
Jensots SN Noirdso Dabivoa®
dadHodod.

L ‘edrD adarid 5 (2023)8, HED
oD Seofod dichod |Proddb
EHASEOS D)5 FNASES (DS
I8 EASE sHoEE) QArdomr
SBhdoTrod Mmooy 1Dy
essFodod.

1L, (8025888 S08, D80 HOKO

2570% HEDLO DoOMT HAT oS,

L2rded aloiads OG8Ny
- H85SEm, OFTRFHo HBA DaHolss
OG0 ) S0 ENANE God.

D DELS / PELSeS” dAWD Tewaren

e yEron 7

(1) T S6cin I
(2) IV Sred

(3) 113D

(4) T1,1100cw IV




Gs/16/100

7. In the context of Centre - Siate Relations,

which of the following Statement/statements
are valid ?

L

Select the correct answer using the codes
given below :

(1)
(2)
(3)

(4)

Punchhi Commission had recommended

that the procedure that is followed for
the removal of President should also be
applicable for impeachment of
Governors as well,

The law that ig made by the Parliament

with respect to any matter in the State

List in J:"-elatiun to the State in which|

President’s rule is imposed, cannot be
re-enacted by the State Legislature after
the President’s rule is ended.

The Sarkaria Commission was not the
first to recommend the establishment of
an Inter-State Council,
Only the Lok Sabha can pass a
resolution declaring that it is npt:essﬁry
in the national interest that the
Parliament should make laws with

respect to Goods and Services Tax.

Only I11
I and I11

I, I11 and IV

I, Il and IV

| 20 )

Q

37. Podo-ond dowogre DIAHOE, Sog,

BSOS/ HesesS D Do,

D& 00 7

I

TlRa8  Soflondsy  ©dbey
DT H5618 ©DIBIH Sy
S80SZEAIre Hod EAS DN,
TRod.

OMad8 Fod IOoDDAS o
Q020800 TR =DESD Ey
~020HOD 0oty
Grorodods o, oI e
S0ADS SotS oD TRNHS o
P ©Sren Dabaes.

©oTns

@08 Tl HodSw e AT
Pard) TS Insas o, Salr
500/ 5.

Zach |HArzae agg-; 355 Bse
BV QoOSOD  FrSosy
OO ErProdotito @S0
1D5B0T SomR) SENS Srsd
edrdodiieds.

BINS 255088 Fhod addErAod HBY

ST ool :
(1) I Sresad

(2) T1oBakn I

(3) 11, TIT S8 ckw IV
@) 1, 111 So8ako IV




asi G100

connection g1 following slntements N
revenues begy, the distribution of tax
I.  The pm,:f " the Centre and the States |
levied on ods of the surcharges that are
Article 22;?% and duties referred to in
Constitug; and Article 270 of the
betweey, tll-s_un of India, would be shared
I Article 2684 aery "0 the States.
Constitutia,: ¢ "4 Article 272 of the
'on of India were both repealed
L Tax on the gy onal Amendment Act.
oy e o e, e
States. ¢ Lentre but collected by the

Th

mﬂ If‘:l']’:prnemda of tax categories that

- Aing under Article 269 of the
onstitution of India, do not form a part

of the Consolidated Fund of India.

m"ﬂ;ﬁi ;‘he above statement/statements

(1) IlandIV (2) Onl

(3)  Only III (4) S o

Which of the following statement/statements

isfare correct in relation to the Human Rights

Commissions in India ?

L The role to undertake funetions relating
to human rights in the Union Territory
of Ladakh may be conferred upon a
State Human Rights Commission by the
Central Government.

II. Only 2 persons can be appointed as
members of the National Human Rights

Commission under the category of
possessing knowledge or practical |

experience with respect to human ﬁght:i
President can remove

- Thchzirpermn of the State Human Rights

Commission on the ground of P].wa'i

isbehaviour. However, the President

s opinion of the Supreme

tter. .
= Human Rights
Iv. The empowered to inquire

P ot
Commission isD after the expiry of two

into any MAtler © o i which the act

years from M olation of human rights is
mnﬂhtﬂ::;fn:: been committed.
aut;sedw answer using the codes

Select the correct

given below (2) 1landIV

(1) None (4) 1,1 andIl

(3) Only

(21

(2]

g8. S0l800 Mbdin oare o adn oo

Honedl  Jowolon 18of |HELSOD

HOMdodod |

1. 2rds oerjofios'D edd 260 SO
efid 2708 Ardodd  HApen
00 WoreD IHoDS BT
Boraho Toldo Sbcin oare G
wodnidod.

I 2rds oezrofodn @S 268A
SoBckn eES 272 Bodr a8 oerjol
D6 SEo oo 6 Tabagron.

M. SO0 1508 ®H500 D)
o180 DAWOH TR Tlafen HJTeD
Saron.

IV, 2réeés orarpolios D e@sd 269 Sods
333 a0 SPre AES sordbo, rod
SO B5 HobS’ 2o s,

D (DS [ DELSOS DODD TeReren

EDeg 85000 7

(1) I ndcin IV 2 IVSreadh

(3) I Sread (4) 1 Sobcsn 1M1

srSSTidodia ArdsS e Sdsos

donotod (08 1HELS / DHitded

DO DDA 7

I So5rds @rodo oddd  Srdd
SENO% HoRoSHNE DO TIY
e Bold |1HHSs0 olR Srdd
rEope 0S5 wodBdbath).

I S7a8 aroyeb Sonodod Feo Bor
asderd ) eddo &) HF0o 15od
2086 SiHedn Srsd radh o
gAY A SEbgenr
Rdbhotieds,

IL DErDHSDS. ol Nds sdaomr o
S Tripe EDDAS  SOHE)N
olasd Soloddh) wond &
Dachos oraDe ot
©HDoird) 8ennEard) aod.

V. Srdss ardoje)  GR0R OO§s0
201636 sfdodd 86 Lo Bod¥
Hoog SphRs Sorsd 280D Srod
pEpe EASH O DachosS g
oo Bh edsdo B

A =ed gaﬂajgouaéu ALdrfod BB

NI «0 :

o = (2) 11.00cin v

{ o5& B
{:l: [V Srebob (4) 1, 11 OGS0 1M1




40. Which of the following sl.aternent!atatemcnta

can be attributed correctly tgo the exercise of
Delimitation ?

The Government of India can get up a
Delimitation

Purpose of
Pariiamentary

Commission  for the
delimitation of

and Assembly
Gnnstituencies in a select few States or

UTs.

The Delimitation Commission can only

recommend the re-delimitation of

territorial Parliamentary and Assembly
Constituencies but cannot recommend
on the reservation of seats for the

Scheduled Castes and Scheduled Tribes,

IV. The Nodal Ministry for the Delimitation
Commission of India is the Ministry of
Law and Justice.

Select the correct answer using the codes
given below :

(1) 1,11andIV
(2) Iland III
(3) OnlyIV

(4) I,IIandIV

40. JS0gHaS EHtehE NEATSTATSR

@

(D8I HEL SO S A
erdodadsroy ?

L 28 %, af sey o »
2300 §852805
DOFT BN,

L 028 DS §) oren o Soi
>0S Frodo UNoS >dmoms
DBy eRod) AT r2E350m,
D00 T2 | HDTBraso B0 arte

(206 50 B INT R EAT N Sl
DT3E% DA,

I 3358 12525 oS Eegn il
FSHoes SHBakn &0d)

ATr2EITe SO t25255 Sesdh
WS Dabiod 8 A Te h i)

Soeren Sbakn Rdrmd dke Ha
028555 DS T,

IV. 2788 H30szas 088 586
NoBSs TP o HBKL A
SDO|e3eh § D).

OhS aJ5088 Foodh andiriod A8
DIrerard) JohTod :

(1) 1,11 8ckn IV

(2) I Sodadw III

(3) IV Aredsd

(4) I, 10 SH8a IV
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Which of the above stater

(1)

(2)

(3)

(4)

*  with countries in the East Asian region.

lndiﬂ's
Act East Policy was originally

CoOnce]
Ved ag an £Conomic

initiative but
had initiative

1
A8 extended into political,

strategic
tegic and cultural dimensions.

The ‘C
Onnect Central Asia Policy’ has
been  taken

forward with the

instituti & o
stitutionalization of the ‘Indja-Central

Asia Summit’ mechanism,

Under the ‘Security and Growth for All
in the Region’ (SAGAR) Policy, the
DRDO initiated the Marine and Allied
Interdisciplinary Training and Research
Initiative (MAITRI) for the purpose of

establishing long-term  collaboration

India’s Think West Policy is an gutreach

to the Western Industrialized nations

for strengthening of relations in areas of
education and defence.

ents are valid 7
1and Il

[ miand IV

11 and 11

111 and IV

(2]

O Ddwon Doadlf Honodod
1B0d D8 GeM Hotdodod

L

1.

rosBio Tl i &R JoR
TRr8 @l SO rhodadod,
o edHos ozalch, Jgates
SoBcsn Aoy aBs Freds
Jbodod.

i OACST-S05 ) &SRO FPTH ROWY
ghomrofic S8 HORPIBESRS
=3 Do etcsr ok Snochdo
Aadtadod.

rosos ®osds FHoé HdA
59 (SAGAR) DEra0 80, &rdo)
eair |Frosos’ Brod 6¢sOS
SEreTD) D6 0ESdGo Fo0 DRDO
A508  SHOcn &0 2080
A%DS8  |RNof  woh  ORB)
205 5hES (MAITRDA [2rdododod.

oSS0 Go¥; ©0F IV IR
oFa Dy SO 68 Soreds
Sonorred wdodo Tohaas
ey rOTE Bresh Bhgos.

» L&Em:ﬁuﬁ‘ DO TERTEN BRI W ?

(1)
(2)
(3

(4)

I SoBadn 1T
1, 11T sobab IV
I1 Sdaino IIT

111 SoBako IV




G:’Tﬂﬂ

which of the following statement/statements

2 can best describe the nature of security

concernsfdevelopments for India ?

. The development of the Hambantota
Development Zone can be =een or viewed
as a policy of containment funded by

G5/

Pakistan.

1. India’s support in  building the
Chabahar port in Iran may serve as a
strategic act to  balance the

Chinese-funded Gwadar port in Yemen.

ML Indian Ocean Rim Association (IORA) is
an extension of the Economic and Social
Commission for Asia and the Pacific
EEBC‘:{uP]' and serves as a platform for
maritime security.,

IV. The Malabar Exercise is connected with
the Quadrilateral Security Dialogue
(QSD).

Select the correct answer using the codes
given below :

(1) OnlyIV (2) I and II1

(3) None (4) All

In the context of Central Government
programmes, which one of following

statement/statements is/are incorrect 7

I. The objective of Pradhan Mantri
Anusuchit Jaati Abhyuday Yojana
(PM-AJAY) is aimed at reducing poverty
of the ST communities by generating
additional employment opportunities.

II. Under the Pradhan Mantri Shram Yogi

Maan-dhan Yojana (PM-SYM), monthly

contribution is payable by the

beneficiary, the State Government and

the Central Government.

Under the ‘FutureSkills Prime'

Programme, Centre for Development of

Advanced Computing (C-DAC) is the key

implementing agency. .

Misgsion Karmayogi comprises of eight

key pillars that are intended to create

functional and behavioural competencies

among the civil servants.

Select the answer using the codes given

below :

(1) TandIV

(3) AN

I11.

(2) 1,11 and III
(4) Only II

[ 24)

42,

_-1

[

1S08 DEed / (DEbdeS AN roSSens
RoDoHods  How  RdRfen/eddys
Tw0E), Aeran) Ao dabodies ?

I. Jonsde Bawhdos &S
DSy IS A Jdlserd,
rCi0|ghen DO GG,

II. oS oash  L885%

DB 0GB0S rdstiio TMus) Pk
DS BAR-AoE 78S
B350 S dddejo TOHIERE
Jrpared ;8 SO Gadirtiatiodnod.
2084058 LAS 88 wFRdbad
(IORA) @3T8 addir Hockn JNDE
€00 @08 Hociy Jrara8 Edg
(ESCAP) T3wE, &dfod Sbde
B0 BBSS SOET DATW0S.
awwrhb 2eHA0N, cthebudoyz
Hoe HozFHe (QSD)&'
LSV ToTm A ToTnEATe ToTaN

&S as1ad8d8 Fhod adIMriod HB&
HAFTER) dochEod

(1) IV 3redsh (2) I 0diw I
3 24 & (4) @)

S0l (DZbed s sBgESTe Sods 08, 1Bod

28 / D500 DA/ID i) ?

L @& ol ®odhods 268
@G0k Gras (PM-AJAY) efio
B0 FTQ BITTOMN JHyRotido
o 30" ST ST &850 éhioddo.

I O5S o8 |# @Brl SrS-08
@rad (PM-SYM) 1808, oo,

Ola  (DEheégo Sbaty  SoiB

oS0 oo Boald doedo

SOord.

Tdbd) 1R ségEho 8od,

wod D6 BIwDToosS e

w9 )6 Soiriedol (C-DAC) @

§O5S BROD HeNHET H0.

0 Rded BdrdE oo

WSET FDFTioD DHyRoTocu

4B2008 VWS Srodosrod

20 £503r0 EOR dotnod.

&b  adadd Fhod andirfod

R J0tEod .

(1) 158k IV (2) I, 11 S8ain I

(3) @) (4) I SSe0

111.

IV.

Iv.




#
In the contey 25)
# which of the fuﬁf the i l

isare valig ; " OWing g Ment of Byqget, | 44,

I. The PO ®DVstatements
automgag;, 0 :ltign Bil .

M. The Provis: el : Carries an
g hm?n Vote .o "
Te-schedy]jy,  Mlectyg) ceount’ has
the last day or 1 the bugger o+, e
of Fﬂbl‘uary ebru“ & thcb’;le f;um

. e first day

III. Ameng
e

IV. e
discusseq, 4 of India can only be |

Select the coprpe

(1) Tand]IV

3 Onl & Lesain
nly I (4) Unly.Iv
45.

In connection with the veto '

] ; power of the
Indian President, which one of the following
statement/statements is/are valid ?

L The Indian  President possesses
‘Suspensive Veto' in the case of Money
Bills but not in the case of Finance Bills.

II. The Indian President can exercise
‘Absolute Veto' with respect to the
Government Bills at all times.
i ] ‘Pocket
Indian President enjoys ¢
E'rhe:n' indefinitely whereas the Ame:ncnn
President possesses ‘Qualified Veto'.

= T veto power in hein_g
The objective :fttl]:: [ndian President is
conferred upo system of checks and

the uﬁ.ce ﬂf thﬂ
between of th
Preﬂident ﬂ.ﬂ-d t.hﬂ-t of the power (L]

III.

_ [A]
2F0 ohen  Bossyos God
(25N D E LSS QDD Tewzrén
.30 7 '"

L Séronosy ey (1E5e55 DS DHew)

AIODOTOE S Daodss SO
SOLNOE,

L D230 D36 Hor 508 H23d
IS BE 6% 2B S
824700k So75es 4.5 65 wTolS
©F V2088 wHGomr SrHod.
2o%) D dicvos Dy
a8y 0odans o aéfodaral
Radieaen $SDoSetY.
i S ydEBa Ho8 2 DBODS

QA0 OO Srehad 58 JoiS ).
B B 5080 Fhod GIHT/rRoD HBS

111

v.

AP DocHEod
(1) 100cnIv (2) 1-08cko 111
(3) I Smedsh (4) IV Sredah

2roe oI DS ©HSTRE .Howodod),

508 DS / HiLS0d DD Tewerewn

E0HE QN ? .

L 270 oo aoas Hd Dever Dachos
‘WS AE” @od D S
Do DHhchod' s,

L 788 o33 o) Jsdoirs

(D s Deveds Howodod Hoiyd

DE"H DATFAOLHE S,

TES  oRNE I HS'H

RlIQ50T @HHBITE, ewond

WD0ES (RTodS 5OE HSD

II.

- BOR Goerd.

IV. 278 oOadad adds S
edsdo g i ormaa
sorieoaho NWValeviV ardhoty
odsrdo Hd; Do  Hdan
B8 )0 SiSpd AFBotGo.

&b BS08S Fhodh adTrAod HBS

ASroTR) SotuTod

(1) I Sredhad (2) L II58akw IV

(3) I 8ok IV 4) I 3de0



{;sfl'ﬁl"ﬂﬂ :
with reference to the Ninth Schedule of the

Constitution of India, consider the following

@

statements :
1. It was intended to protect Central and

State laws that are included in it from
judicial review on the ground of violation
of Fundamental rights.

II. The entries included in it are not
restricted to the subject of land reforms
and abolition of the zamindari system
alone,

111. Artir.:le 31B carries a retrospective effect
but it has ceased to be operative after
the ‘LR. Coelho Case’ (2007).

IV. The entries incorporated in it are only
done so, by the power of the Central
Government.

Which of the statements given above are

correct ?

(1) HandIV (2) 1,I1and IV

. (3) II, III and IV (4) TandII

The “Territory of India’ and the “Union of

India’ are two distinet and different

expressions due to which of the following

reason/reasons ?

I.  The Union of India’ includes just States
and Union Territories while the “Territory
of India’ includes in addition to States
and Union Territories, those territories
that may be acquired by the Government
of India at any future time as well. R

II. The expression “Union of India’ is
mentioned in the Constitution of India,
but the expression ‘Territory of India’ is
not found in the Constitution of India,

I1I. The First Schedule of the Constitution of
India is with reference to just the ‘Union
of India’ but not the “Territory of India’.

IV. The Union Territories are covered by the
expression ‘Territory of India’ and not by
the expression ‘Union of India’.

Select the correct answer using the codes

given below :

(1) Onlyl : (2) OnlyIV

(3) IandIV “(4} I, IT and III

{ 26 )

0|

46, 0S8 TerioNoSN EMSS naTSs,

47.

w000, (80 DESSOM H8dodos -

[ 38 e Friuje $L00S sOoom
Ol mai ol o F6yaas
S0l Sbain Oa) SEFoS Slodarnt

FosaBod,

II. 205" FodES0AS Joiten §3a0
Zrnod) dmen HBd 2omTrd Ssd
GCY @oTRE Aressh HBéo sBM.

II.esdS5S 31B a8H0S |Herdod §Oa
400, wond 2 ‘IR Fabd' ' (2007)
Sor et SoDabdo esfdfanod.

IV. 20t Srocuddtads doltlen o
D2hess eodsdo orjor Ar@dh
SabadeEow.

2 D) (HDELSOS DD HTID ?

(1 1 H8ckn IV (2) I, I Sodcsn IV

(3) IL I c0dadn IV (4) I00akn IT

oL ad 30805 Lol ‘Ahrdabs

e WAAT 1508 o sdpolsdare SO

Sodh JDHDS Hbaw DR DS

S558¢5een 7

[ ‘chrodhe @D mecdd” Yoo
orafen Sodcin So|Brdé (arosre )
5OA Gotnod, wond erde Lrario’
ovaren S8 So|dTrdé [romred
Fen, FAAHS' D DdabosS T
arie |DEvéso riddo Tt o
Zrarmrod SO0 gotnod,

L ‘COrdahs e modal oF Slssn
2rdes orargoiiod |IHArDosadod, s
WS Brprio’ oF S8%sn rés
orzrgoiod D& T S,

L. zrd6é Tajofiod'Q Jncded drid
500 ‘CWrACHS @D  modaird
QOVOGHODIE SR ‘erded  Zreric’
5.

IV. So|>rdé (romen ds Ziraio’
ox $:8560 oo §386 Tobagow
SO0 ‘ChrdahS eh 20l o
358560 o o 0.

A0S 352088 FhoS and@riod B

DArTTR), dochfod :

(1) 18w (2) IV S

@) I1H8cMIV (4 II1S8cs Il

#



I The pri

Primacy of ®quality is safeguarded,
defined ap

d enforceq by the courts of law

rathe
T than by 4 Constitution as
conceptualized by AV Dicey

Articl
icle 14 of the Constitution of India
.
constitutes ﬂnljf the concept of 'Equﬂ]lt}r
before the law’ but does not mention the

concept of ‘Equal Protection of Laws'.

II. Article 194 and Article 361A of the
Constitution of India are indicative of
the fact that equality in India is not
absolute,

IV. The theory of equality includes
distinetion of merit but not’ distinction
on account of hereditary titles or nobility

as propounded by the Balaji Raghavan

Case (1995).

Select the correct answer using the codes

given below :
(1) IlandIV
(2) TandIII
(3) Tand I

(4 TandIV

@&l

Each omlcires Honodod, Sobd
BELSeS  F3ad S Harssion
Ar DR S0 e Ssm wofsairss ?

L

IL

IIL

AV, B% 00500 4rs, S 1o vk,
s oerjofio oo THoT
TiohProd D068 odadmdod,
AEsDoSaBos Hbdlw smden
Dobaddod.

s orerofioS’R wfis 14 ‘G40
S0 Harddo oF 2o
S 5OR @od TR PO ST
SE@ 255 DT DoSB .

apGeh oreriofiod R afsd 194 Sbain
@085 361A, rdsBiod Jards o
Hoordo EF TR Ardaod.
Harséso SnE)y NFoso Ol
o FoR) SO Gotnod SV
arerd oSS S (1995 oo
|erOotndS Sodrsodd;
Hxhen Hor 1D  sdoor

DEEED0 T,

BIHS 25188 FBos GHTrAoD DS
HSroR) JothSod

(1)
(2)
(3)

(4)

11T o8k TV
I Sy8cko 111
11 60k 1

I sSoBatn IV
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49. Which of the following statement/statements

is‘are correct with regard to the Fundamental

Duties 7

I.  Fundamental Duties are confined to just
the citizens of India with the exception
of Article 51A(i), which is also applicable
to foreigners that are resident in India.

II.  The Verma Committee on Fundamental
Duties of the Citizens (1999) had
recommended the implementation of the
Fundamental Duties irrespective of the
existence of legal provisions.

II. In ‘Kesavananda Bharati’ Case (1973},
the Supreme Court of India held that
the Fundamental Duties may be used to
decide the constitutionality of laws that
are otherwise ambiguous to interpret.

IV. The Sardar Swaran Singh Committee
had recommended for penalties to be
considered in the eventuality of
non-compliance of any of ‘the
Fundamental Duties, o

Select the correct answer using the codes
given below :

(1) IlandIV
(3) OnlyIV

@ Tlanam

(4) IIand IV
With regards to Directive Principles of State
Policy, what is the correct chronological order
in which the following additions/changes were

incorporated into the Constitution of India
through amendments ?

L The adding of a second aspect relating to
Article 38.

II.  The changing of the subject-matter of
Article 45,

III.  The adding of Article 43B,
IV.  The adding of Article 48A,

Select the correct answer using the codes
Eiven below :

(1) LnLmv,n

2) 1™, 1,11, 1m

@ mw,mrm

{28 )

4) 1,1v,. I, m

Ly

Lr@ads oS  JooB0d Boa

(DELMNDELIOS DA HBS 2

I  erésdios Dahod DBk,
srar S8od esfES s1a) aDed s
[BrE DEen B500 2rdes D ers,
Sresh HBMebo Fabagray,

I. &rde DrdHons DO 58 2068
(1999) SQIEJS VDOGIe Gals
ROLOGO BEoT | FGIuE STV
@6 TaAlred i) Fhoa,

I SIS0s ardd’ S (1973)65° 2rde
S8 6 TODYS0,  edo
DOFIETIE Hodorr ) Shre

Oz ;020G éd Dgonodmn?
HWE DPODH GHEPACSSS
2808,

IV. 6 2305 Rofi e Dz
BrG0E dvod FBonsd 5o’
SO OM H0MISE ST ren
Rardy) Taod.

Ofd 9588 FhoD aITEriod 38

QAP otHEod

(1) I n8aiy IV (2) I.08ciull

(3) IV Srigadh (4) I HBcin IV

TIErEos  Howodod, ASiwe

oo Aol oargofiod (808

TEOVErS e TS A A8 FOSR0

Saed 7

I @QsS 388 Sowododw
B0 SGotso. LA

I w84 45 Gwg) Dhabo s A

1. esQ&e5 43B a';‘ao:;._

IV. @& 48A SBod30.

3 FHod asairiod H8°

Joo

BhS @ g :
DAY Jocvsod :
(1) 1L v
(@ v, LILIH
(3 v, 1,511
@ Lo
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. The 25'% Congy;

Consider the fn]luwing statem
§ ents ;

(1971) inserted .Luﬁ“““l Amendment Act
first provisio A new Article 31C, whose
N was declared as invalid by

thE Supmme C =
Bharati Cage {1(;;1:';}1“ the Keshavananda

. The S .
. Case :]1p9r§ur?ﬂ Cnu_n m the Minerva Mills
the scope ;n““‘-d'amd the extension of
of the second provision of

Article 31C as invalid as well

III. The Supreme Court j - :
Case  (1980) M thy Miserva Mo

importance of ]?33 considered the

between _Fundamental Rghts . and

Directive Principles. giie. *H

The present interpretation wi

tion with respect
to the Fundamental Rights and Directive

Principles is the same reiteration of the

fhr;ngz:fmi‘:tc:ﬂ:t ﬁm:hﬂr;];uundadak:i

urt in the Cham _

Dorairajan case (1951). =

‘ﬁ&ﬁchl;t‘ the statement/statements given

above is/are incorrect ?

(1) Il andIV (2) 11, 1 and IV

(3 1,IandIV (4) Only II

With reference to the procedure for

Amendment of the Constitution, consider the

following statements :

I. A private member of the House of the
Parliament can introduce the, Bill for
amendment of the Constitution only after
the priof permission of the President.

II. Article 368 of the Constitution of India

- rovides for hree types .:.If amepd_r:mnta E
simple majority, special majority an
ratilf;mt.ion of half of the States by a
simple majority.

[II. For amendments that require ratification

half imple majority, it
States by & SIMP

t;: notth:emsaary that rall the S!;at,e

islatures must take action on the Bill.

IV. The State Legislatures can] pass a

' lution requesting the Parliament to

st icle 368 in the same mﬂﬂlﬂﬂl‘, as

amend Artl the e croation or

llboﬁl;:i :F Lli‘:_?;ativa ﬂul.lnﬂihi- in the

a

Whi;aw? the utammentf!t“wm““ given
1 o

ahweiafaremﬂ“‘? a2 1, M1andlV

(1 Hm:ldfw (4) Only 111

(3), lan

| 29]
G1.

r-

55.” G/

E08 |D80&ms HOABoS0M |

L 255 orergoff Hate oo (1971) 58
adsd 310D FTHo008, H IndE
?HPQ&’: BHTS00 268 A (1973)S
A0FYW TS 1HEBoDos.

IL  2S0rs tdy $ds QDo (1980)

@S 31C SnE) BodS ADOHD

FBwE; HAHAD SoAhoddo Sror

TG HOKB0D0S.

og ey T (1980)° oDoSE

PEDE  rpen bk eTE

IIL

arEre Gy b0 &ddim
Dodoerged T30y |08 80
belalal el A le IR

IV. |ros rSpen  Hdaiw eB3%
ArEredy 2020000 DA Db,
SSH>ES Spoas W 1esDS
MbotH Dwdbr  (HSJTOODD
HEQ) SOFTER06.

2 A0S HELNDELIOSE” DO/D S

(1) I1S0ckn IV (2 11, I SH8asn IV
@3 LISBaIV (4) I Sed

52. orzrsof DSt (HEchS doodod), 5od

BSELATNIS AN HoHedood :

[ Ootn O S RIS Jghyd
TlaS8 S0sY ®DHS S0°5S

e ool dSde DB
D R e,

. 2rds oarioliod ' efsS 368 surd
ssey  astpod ®@odod -
yodn Derdd, 1OBE Dzrdd
<805 orde Derded ren Jifo

orlare s esdrdo.
L.  aroroe Szrdels en o

o{areaR a3rSordId NI0NG
#50, ®©) Oare TRISPHe DD
585 Angard )d ©s0060 .

v, oled TS “oad Joryen Sor
¢ €00 TR nGorrs ©fsd 3689

HABOTOR EDotD ©PRYT
2 BN TR
A0 ).
=% 325;'6 L;,gum:aéumué‘ DD
: ?
(1 aoswo 111 (4) T11 &S| ebad



II.

I11,

correct ?
(1) L Iandm
#(2) I I and IV
(8) MandI -
W4) ITandIV

Which of the following statement is correct
regarding Parliamentary Privileges ?

(1)

(2)

(3)

(4)

o N of India can
ing the ,Bth"‘l Constitution
ion, Asic Structure’ of

= .1 amend the

an element of th
Clupe’ |
ure’ of the Constitution

in the ‘Kumar
Pragag Case’ (1999 has declared

ism::;datli to build a ‘welfare
5 ' element of the ‘Bagic
tructure of the Cunstiiutinn.

Parliamentary Privileges are the
privileges that are enjoyed collectively
by each House of the Parliament, angd
not by the Members individually.

Only Members can be punished for
contempt by reprimand and admonition
but not outsiders.

The phrase ‘Breach of Privilege' has
wider implications than the ‘Contempt
of the House'.

The Members cannot be arrested during
the session of Parliament but this

privilege is available only in civil coses
and not in criminil cases or preventive

detention CASES.

I l:_'R nllH"l ”“;L nﬂ_
I Lhovyy

.

&

grerofo Glng), 1ar@ans AoMRo! HoBog

1808 | D5t Se HEMSoSod .

1 fardand dovyao’ Gl Mo,
ardiotn L0 G0 arda
orerjofiods Froatdnios

L 580, rde o2rofiodd wbes
368 (H5°00 rOTOLN Tarjofodty

Ergas RO R0 DarSa
drofoa oerjofios'n R
2P HSOOBSD ).

III. orzriomd) Lot ]

SO0t &) DO LTl o)
Sror oerjofio Qg 3renue
oo’ o8 modo,

IV. ‘D08 oempRy’ ddjoorerd i
orergoll  |argans N Te JTel 5y 2.8
®0IND WArE &) (HAE Bay
(1992)5' (HoS'D HE80D0s.

2 B DSLIOS’ DD HPSD 7

(1) L II508cw I

(2) II, I So8asn IV

(3) I So8dfn 1

4)  II008cin 1V

Do sdsT ot Howo )

TES' BB D80S DA 7 o

(1) Féosrd B Ten @oh)
TEDotnSD (Hd R DT o
BOTT W, HZhgen S8 om s,

(2) @Di&i}ns@ DO aXT e oo
i;g:;f}s TS0 & gen

Wosadems b

DESen sy, .

DS @ BRGNS

R ouh A

Sod

(3)
OF SSwos0

4 55&5?&' (fam ah A
So 55.'} ) S0, e S
i o 3
Of : e @:«‘& ::}Slcl,um

@ >Joey




gs/1G/100 (31 Al
58 The equal status of the Rajyn Sahha with the é‘g“ e oI el el N
Lok ?.“hhn can be descﬁbeii by which of the e : OBS ooty ddrd e (500
follow ing Btntnn"ﬂuUﬁ[ElFME'um 7 ol L:Jgumfﬂghf:}ﬂ A ;]:}EF[H:}:-:I L:'J-J T
L Introduction and passage of Money Bills. L 50 Hepe H6:abo Sy sSroo.
::1 ?nlnfzdfmtian of the CAG’s report. II. CAG JIOEH HONLSS'S nTdBo.
Y Hf;::-;:E'd the  removal of the 1. $A0 58 Sofodyd rdododdo.
i sdent. e
IV. Approval IV. Oa98 oror St 850 QSR8
' proval of proclamation of all the three -
types of ; (205837550 TS0,
emergencies by the President. .
given below : AArOTTR) wothtod

=(1) LIHIand 1V (1) I, 8cin IV

(2] IlandIV (2) 130cnIv
«3) Al 3) @i
(4} OnlyII . (4) IIESe0

6. Which of the following source/sources of |56 ol oo SSShesrarods 28

ey Rslily fee helng glom e SowrchSots adiEd ofs/efsd
Srodody?

L The tax proceeds that are assigned to
the Bbitan Biac the Ceitie seay b agiin 1. Boto dod olaros Seravodadd
re-distributed to the Panchayats as Sy SrEd Sold PIE) SM0R
recommended by the Central Finance Ry TR MTalelyy H¥
Commission. Hoorohaoin Hodd Taba).

II. Loans from the State Government. 1. oa Db o dod Here.

[II. Under Article 243-1 of the Constitution L zrdé oarsofioSn ofsd 2431
of India, the State Government is 580, Crla R, SRS Rardyen
empowered to devolve its own funds to dédfons doorchBo 83 Jiod
the Panchayats even in the absence of dmod Dodd Tohadd o
the State Finance Commission's (DHZE DS 8O0 GO A,
recommendations.

V. o835 amd  @do nard
Fowod &) Hoorahae

IV. Internal Hesource Generation is
facilitated only in the case of Panchayats

“obhod arsd ©@08Gs Sohe
?Eﬁhzi@“]ﬂ s i:;fjé muzﬁélr:'ro Fabadhdod.
Select the correct answer using the codes Ak admpdsd fhod Aaa8rhod 20
given below : HAFERR) W0 cofod

() 1,Hand I 1) 1,11 00w
@ IandIV @ 1150801V
(3) Onlyll () 118300

(4) None 4) 268D
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GS/1G/100
;ﬁaﬂCﬁD g
57. Consid 32) @ (A ©
Reasn:;ﬂ}t:lmd followpg Assory | 8ol ¢’}b§; $008>  NBS 5N
n Ehumlhem” rtion (A) and|B7- ;Jariﬁff‘-“:'a

ASSErtl'un (A) : oet code : ng:ﬂgﬂa :

D Sommection (95 rffﬁmu HICES  Vonogey
:j':e;:;nt: e Pan F&:::Hir OWn resource Q‘Oé &S ma‘ﬁu 2 ?mbﬁ‘-ﬁ
Intermedan ey 00 e Pt FO00me  So0b  TS Yo
Reason (), " e District leyely, 0% oBen DOT a1

The Gram p 20

Omain w anchayatg have their own tax swoR): Hen 50 D505 DAY FEy;
depend only gp yop. S Oher two tiers have to| gy HOETOW 8 288 Dok
fgri_ntmalr&m uﬂ:_fﬂﬂ‘ﬁ' ﬂ_‘n_d non-tax revenue gaﬂ ﬁgﬂ'mjf &0 v lﬁ-ﬁ
Cod “Rfemersion, o Sepn @0SHS 33000 ers)9 Sdo €'
e e: ©0 boprers SO0 H0)THES Tady

e,
i;:‘ ﬂt}:ﬁ?nd ®) are true, and B o 4% eros@d.
(2)  Both (A) and (R) are true, but (R) does 5:? :{ A) Sbckw (R) Bodr Az0, Hbd
not explain (A). \ (R), (A)Q DSBOBE.

(3)  (A) is true, but (R) is false.
(4) (A is false, but (R) is true.

In connection with the lapsing of Bills, which

(A) SBcs» (R) Bodr dz0, hbdy
(R), (A)D DeSBoLS Tk

(8)  (A) D230, @O (R) ).

(4)  (A) 83, ®oS (R) D20.

(2)

of the following statement/statements is/are [58. Dene FoSN0 SO SO Sowodod,

valid ?

I If the Lok Sabha has passed the Bill, but
if the Bill has still not been discussed in
the Rajya Sabha, then such a Bill does
not lapse.

1I. A Bill returned by the President for
reconsideration of the Houses will not
lapse. However, the Lok Sabha should
not have been dissolved by the time the
Bill is returned.

III. A Bill that is passed by both the Houses
but pending for President's assent will
not lapse.

IV. A Bill that is pending in the Rajya
Sabha but which has not been passed by
the Lok Sabha will also lapse.

Select the correct answer using the codes
given below :

(1)  OnlyIHI-
(3) IlandIV (4)

(2) I Il and IV
None

808 DELS / 1HEed0S DA/ Tewertn

380N ?

L &858 D 83rdodar, oasddd
DYD BOT BG) 2EHEDSE, eerod
D) 5GahA 52,

I g0 H8:00%08 Fho oana a8
DO DN SwAanhesy. eond, Db
880 ST JHorDE SEHS Q)

: Tabhayd FOSHFCHAD.

L agah  Hasen SITAoDSH 838

ORI8 e3rso S50 = &S

IV, oraspesest VOBORS* @y 58 SEH

SIS0 o

Sy

(1) mn?;l Pottod
3 1 &Gi;ﬂ:v (2) I, 11T SH8cin IV

(4) D& e
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(5/16/100 (33)

4 :::ha:rﬂh umﬁ:wi“ﬂ statement/statements
Cumm'iasinn of Indin ?nwrdiﬂﬂ the Law

I. It is a non-eon
body,

. One of its functions is to eommunicate

its ﬂ?ininn to the President on subjects
relating to legal administration.

Its reports are not submitted to the
Parliament,

stitutional quasi judicili

IIL.

IV. It has no suo motu decision power to

undertake research by itself.

Select the answer using the codes given
below :

(1) 11 and III
(2} Only II1

(3) Al

(4) LIIlandIV

Which of the following statement/statements
is/are valid with respect to the Preamble of the
Indian Constitution ?

L The term ‘democratic’ as used in the
Preamble iz a mix of British Fabian
Socialism and American Populism.

II. The term ‘Republic’ in the Preamble
indicates that India has an elected head,
called the Prime Minister.

. The ‘Liberty’ expressed in the Preamble
is neither absolute nor qualified.

= term ‘Fraternity’ as used by the
5 g:amhrlt originally denoted the dignity
of the individual only. _
given below :

(1) Onlyl
(2) IlandIII
(3) OmlyIV
(4) None .

6Y.

(2]

er Saaind el Roddirty HoOHOL) 150
(8€3e / 5SS DAY DD F)?

1.
IL

I

2O orergoflas S8 g araha pow.
BRDOHS HETFOAH  HODOHOD
DACITOD T1AHAE &S DT
S80chBchdo A Dead’ 2.5

R TAL IS rET0LE

~e8 0058,
i Sichbor HB5%GS ToboRl
R JCHoHANS (Ardrd) Addirds oo

Bss  aSdd fhod  asSBriod
MArER] WothSol :

(1)
(2)
(3)
(4)

IT Sa8atn M1
TI1 o5 €5a0

I, IT 08diwo IV

arGe orariofl HRHHERE H Movodod
1808 10E6S / HEbded DA/ Twaren

Doy Erow ?
5855 SHTrAoDS Deraridy en
a0 [Heth rdHaba Fadzo Hbdoin

II‘

@adim aradao Soawns.

I Hedold oid 580
ESETOE D8 Bl Dendad
Do) F2hS @GHBR Ardod.

. Sidsnotnds Ty
BoriRse Sor eds B,

Iv. H6¢anairiodd ‘FrErdysso oF
S50 Dernd S8 O oI
Ayiehadh Ardod.

A8 mS0aS Fhod aIGriod B
HErEER) JothEod :

(0 1aread

(2) 11 Sobako 11

@ IV Ay

4) b S

s il
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GS/1G/100
Part ¢ Ll ®
Indian and Andp,. >§cC
a Pl‘ﬂd
Planp;j ;’h Ecunnm_? and | 08058 ©o8 wolg |HT¥ IS wo§ Aok
61. In recent tim &'
oS, many | 61, 3830 seood, ©FE (Ddvp 3.,
Brrmed  high gy, coUNE agencios have| 708 @QY  S539% @08 sy
Statarae ich op " the Indian HSSFBomron. rESBHo wotTr Fa
Sy Statements can ¢ following @08 S)B8 (808 |DELS / |HEOS od' Ha
Sy TASONS for Ingiy the best aréhd s OE0/sSETren STty ?
4 St.m S Projected high L 2038 (238 $HO6 TS Siabe
E B8 Private ping , (PFCE)
G Xpenditure (PFCE) Consumption I (HEhed sk DY Sredad H5aho Dod
+ Governmehy | D3ES DEP2A B SR BoG0

shift of foeyg from large

capital ey :
invegtmmtpeﬂdmlm towards private

I11.

vtfnﬂl'if: 31;;3 w;{th & reduction in the
e of Fast-Moving Co d

(FMCG) ng Consumer Goods

Fading of the El Nino oscillation and

better Rabi crop prospects

Select the correct answer using the codes

Iv.

given below :
(1) IlandIV (2) IIand IIIL
(3) I IIandIV (4) Only IV

With regard to the progress of Digital
Payments in India, which of the following
statement/statements is/are valid 7

otion of Digital Payments has been
. mferrﬁ dom thy Miokiry of
Electronics and Information Teullmuiuﬂ
(MeitY) to the Department of Financial

Services.
11 e-RUPI is an institution-based voucher

management system instead of being
person and purpose specific.
‘Hello! UPI' is an Al voice-enabled

yment feature built by a -j:unﬂurti&m of

111.
startups recognised by

4 es challenges of
v. ‘Upl LITE X “ddﬂf:;ung offline UPI

remote areas by

payments or using the codes
rect answ
Select the coF
given below (2) NI and IV
dIv
(1) I, 1Ian f and IV
(3) Only 1l e

L 2150 A DA Sepayen (FMCG)
H0Sr@os” $hond’ Jrén FIAH Jard

Rardie 5§ NS
IV. 28 DS Bods §né Hbaly DS

sHJoLD s5705
&S BS2ES FThodh GOHTrAoD HBS
DAFEER) QohE oA
(1) I58c» IV (2) 11 SBcsn M
(3) LILSBaIV (4) IV Sressdh

62. woaSios G2ed TOode e

do2odod, 150d D6 / |DiLded O

Tearey ederon ?

1L  A26d SQodo |HNTd0 JOIFAS)
S08d0 A0S Bs e Soja;
TR (MeitY) cbod e RsSe Darrad
260 Fabadod.

I e-RUPI 038, 558 SHH8ain |Hdraso
APROM SHoT* HoY srrds 3%
QG 3TED S55.

NI St UPr @38 Fasd Hmod)
ST0AS @D zoldalr (NPODT
HQoSads (BIS rairas Yoo
GBS ey oo

ol Sy) - SR FAV
e iy 3 - Toud 9

V. 'UPI LITE X' 588 UPI (0025

D05)  2WoLEDHR  FDodod

Erdododdo oo Srddre
BroBre ¥ H6236:508.
OGS ads0ds Fhod asdriod 989
RErOTR) oo -
D LT IV (2) 1 soBaso IV
(8) I dmessh (4) ISoBdln IV
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B

Tnul::iFlIl inb]l‘lﬂia has turned out to be a key
;ﬂ::e natl; m:,rd%ich of the following
sector in India ? i e
I :]eﬂ] isrua tﬂhnnlng}r-driven gystem
Hosniealin . PrOviding  services to
ospitality ang Travel industry

1. ﬁaﬂﬂzﬂmmﬂnt has resolved to make
9Ne trillion USD tourism

economy by 2047 t Bl

rI'Iwﬂ]mfm1 Occupancy Rate has been
TPy Increasing alongside a consistent

rise in the g5 dail
rate and
revenue per available room, d

Iv.

Select the correct answer usging the eodes
given below :

(1) All
(3) IL III and IV

(2) I, Il and IV
(4) Tand IV

L The Interim Union Budget (FY25) has
proposed initiatives to boost India's Green
- Energy Sector. Which of the following
proposals are connected with developing
India’s Green Energy ?
I Viability Gap Funding (VGF) for

[ utilizing solar energy projects
" II. To set up coal ification and
r liquefaction capacity of 100MT by 2030

ional blending of Compressed Bio
g:(CBG} in Compressed Natural Gas

(CNG) for transport 1?nd Piped Natural
Gas (PNG) for domestic purposes
ancial assistance . for

V. Provision of fin 1

" procurement of biomass aggregation

. i p!jgﬂgﬂt pecurity system

4 ﬁmﬂp;i; the bio-manufacturing
: gountry

: Wﬁm@'ﬁr f:; wor using the codes

Biven below :

v @ 11and IV

{36}
#3.

I, I1, III and

v Ll
L Il and V- (4) IV and

13)

(2]

SeBdods’ Horges Sofio b Do B

Sofiorr &rfod. srésdiod'n Hoies

Sorrd8  HowoBod (Bod (DS /

DSOS DD Bewaren ewheran ?

. NIDHI &38 sadio Hbciy Horgdd

(Ciréd) H8F05 TS eodotars

BHIODD odAE Brros 5159,

2047 ¢3¢ 100 dahy wosFTaah

wadodhod osdwn; 0 a8

B3OS USD awrbazo @ SiS9m

STT 00 | D2 10 Do jodod.

Atfen Bzrard den 28050 ®oerend

ad) (08 ST) vorchods DO

DSOS Jén rHS siyDo)

Dén Ador wtkbhda'os.

IV. 2rdé e Toffen dhaldrde ardE
(PMI) DS ESS vod.

&S adiadd Fhod &ITriod HBS

AArTR) Joch¥od

(1 &y v (2) LI S8k IV

(3) ILINSScinIV (4) 156 IV

II.

I1.

Gjoad Sold 2FS (FY25), aroadio

Gag) /S 230 Sordy 1S trodard

S fSared |H8roo008. Sobasds o

HBISIen rEsds (AS 250 oF A%

e©dSy6 ddbdod eddogrRodnd

G0 ?

1. 8 48 (EPodH INTrNohESarns
SoirdOes S Hodoll (VGF)

II. 2030 ¢3¢ 100MT &M rideias
SO0 (BNEG OTIA)  DoHED
Dahdo

1L 8965 3500 , e Do DY
FosS mR (PNG oo, So2w
FeusS iR (CNG)S' SoDy 2T
(CBGID 0o Se0480

IV, 2&@rard oifas dbo@e V6%
es08 HJ'ao eoHoNA0

V. Bios® A3 Howosd SYYo Sard
Si50% Doosant 3oy Foe
S5l 207N Sabao

BHS @S0 g8 arD0IrAod PaTa ]

M JochEod :

1, 11, 111 sobcin V

I, 11 Sobciw V

(2) 1T Sobain IV

o (4) TV odaio V

(3)
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65. Which of the following statement cap best be
described as having resulted in the recovery of

India's external sector ?

(1) Moderation in India’s merchandis®
export growth in FY24 accompanied by &
sharp decline in India’s merchandis®
import growth

(2) Increasing commodity prices with

escalating global demand

Increase in merchandise exports and
imports followed by a decline in net
services receipts

(3)

Growth in world output outpacing the

(4)
world trade volume

; and
Consider the following Aseertio? -
Reason (R) mdchmth"m"““ '

Assertion (A):
rms directed
Il result in

towards a’simple r.a:l'.
Tax refo - positive Fmdu:ﬁﬂ_t.'l'
gystem W1

and employment
pp growth 2
boost 0o deadweight cuets 257
growh ;; Jrtions in resource allocation:
reduce &

Code !

explain® A.

(1)
true, but (R} does

(2)

L

(A) i8

(3 put (B i true.

(4)

| 36

6.

Ly
sofio GRS,
S BN addior
S b
£, c:‘rﬁé' s AW
AR H)Q

(2) e =850

(3)

(4)

Hade (A) ! S
igf "E;ut?ﬁc& ook OB
Jocnsod
sydsde (A) -
SEEHS DX S &G0
S0 HODOEID R
e (55 erar s TOST -

sdwo (R) -
FrahER O 0 JEIRD é‘uﬁﬂdgg
S0dain RINTe VIS deranoad
whofided Slotdo o © GDP
B ST SHPR OB ON.

g8 :

(&) S8k (R) Bockr dazo SO
(R), (AR DSBWOH.

(A) SO (R) Bodr, davad, s B
(A DS80S T,

(A) Qai0, @and (R) ¢a)).
(A) 83, @and (R) Dz0.

(1)

(2)

(3
(4)
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fegarding  the National
Infrastructure Pipeline (N1p) ?

il includes only economic infrastructure

projects by not 3 |
4 BOg
projects. ial  infrastructure

altract im"EHtmen

ts into India,
W- Iﬂ'd-i»a In"EﬂtmEn

5 t Grid (IIG) as a platform
as ceased g t'anilit.at_e the NIP and

instead ‘Inyest India' is presently

facilitating NIp.
SF]m the correct answer using the codes
given below ;
(1) L, Iand I, (2)  Only 111
(3) IIl and IV- J4) LIland IV

B Consider the following Assertion (A) and

Reason (R) and choose the correct code : B8.

Assertion (A) :

Majority of the reported transactions on
€-NAM are intra-mandi instead of inter-
mandi and inter-state.

Reason (R) :
The Agricultural Produce and Livestock
Marketing (APLM) Act, 2017 provides for
progressive agricultural marketing reforms
that include greater focus on intra-mandi

transactions.
. Code :
| (1) Both (A) and (R) are true and (R)
E explains (A).
(2) Both (A) and (R) are true, but (R) does
not explain (A).
(3)  (A)is true, but (R) is false.’

4)  (A) is false, but (R) is true.

————

radh FO¢ Heharaire 2OBS (Fasd

SAMREE  DHDSINIPE 5020500

1508 D50 / 1D80s0S DAMD Teverew

eHEawn 7

I. NIP&S adf IO HSdrcre
(ErBen Sradh aotron s dsras
IO Schodraire | DEDe 5.

I NIP 3300 $ois ASHS @250
Boa DPGC oF jor ePKOB. (2T
29 2w NIP £588  Sod
DS anotagran.

L rosdd D8 Hevraire Soffod
PPad elsTeos  e@osoddo
Sbcin  rEsdHiodst hepwbe
es580dd0 NIP wf 0. -

V. 2040r a3 9Dod A6 (IG) Iadm
NIPQ ofiado Jcbdo efdanod
O B8 adhenT ‘BT H 0
0o NIPD fnerdisto Sfos.

Ol assadd Fhod addiriod S8

AP docutod :

(1) LOSMSCoIT (2) I Smesdh

(3) I 0cin IV (4) II0cnIv

808 Gyd5dm (A) OGN SE=0 (R)

H0fhdodod DBy  HBY  TBED

ool

G858 (A) ;
eNAMS' JFdodeds oodhod
w5050 g0, vode Sddy Sobdcin
oare S Soth Hod She adhibeon,

sd&o (R) :

Sionrdh aaide b HHHODE
Sr8e30h (APLM) O¢o, 2017  Sod
SHd erofhod J85d Gyad 5OA
ol (HHATe SSarad S8 800
208008 odRod.

g4 :

(1) (A) Ociw (R) Bodr ~a0 Sdcin

2 DSBr08.
(2) :i; :;:‘.'roﬁu (R) Bodr, dash, = (R),
(AR D30 T,
@ (A dzo, wawd (R) $J).
@) (A) 6), ®ad (R) 20,
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68. The st ; (38 )
- n;? strategic objective of As ” fjr;)@é.h.-ﬁ t
gramme may be m“]“inedml Monetization 69. ﬁ;ﬁﬂl e 30550:513133.}
(1)  An initiati as | £y & anrehap
An intative to unloc W O oo oo 236 b0
investments in priv k the value of Ej s A o ol
utilizing public EI!m::?lt'ﬂ sector assets by :j:;l 51.'.335 2.5 S, ol
F capit | -, o,
(2 Involvi P 2 5 HoRSo S0
n . [ ,Jﬁ-ﬁ &0 5V L 10 S
Iicensﬁﬂ:ase :;1 indefinite pE'riud. (2) ; é_ lﬂ'ﬁs 2-‘5&'15'1-35{3&3‘5} H‘f‘_-ﬁ
government o an asset, owned by the 05 DSOS 55856 BROYIE
nidntans r a public suthority, 10 2 4O a0tn0d-
- ctor entity. @ 1,:}5&5 Soll =56 B8 Sod
)  Facilitating an opportunity for public ;5..:.}':){;55}‘3,1@ ﬂﬁﬁlﬁd@ﬂa D‘E"g
:}ﬁ_} ey
: norl €00 %;;;?d'ﬁﬂﬁ}ﬂlﬁf
0.

asset owners to use new financial el
gﬁ-?i’al mggﬁéﬁﬂ
L;Jra's;&?mﬁn

ﬂ‘tl-'uﬂumﬁ- b}' u[j]izmg 'L'ﬂpitﬂ.l from
private sector investors. ) PPP
(4) Offering an alternative mechanism to G'SJDLE'GWF:Q @Uﬂ'o‘-ﬁéo
th
e PPP model q0. 25750 @ob ey 02 56 @
which of th ;o&oﬁﬂSEﬁng oo How, BoB (D5 /
ih of he HESOS A0 Tepered eoyEon ?
o so SHBoeh

connection with SEBIL
sined SrBy® 5
538 F-}iﬁoil‘cﬁ.'i'ﬂ}

70. In
following siammenﬂﬁmeean is/are valid 7 [
[ SEBI exempted rﬂmﬂatiﬂﬂsﬁuiﬂf SR iy
[nfrastructure Ilnvrs:l:*;l;ti“ nrﬂﬂ:: 200l N STA ele Fobads
(Iﬂﬂ’]'s} and Mun;f;m r:nfmﬂmﬂm 3508 Hpardire 26208 |OF (2
facilitate more :ﬂmnﬂ = m;“kem_ ST CLhl mﬁ'j’:ﬁﬂ}ﬂﬁ 1) (InvITs)
ﬁnancmgthrﬂvs : F‘f ! SBoin unnhnd wrobe 50 SEBI
. SEBI introduced M€ m:;"rmﬂ’ wi‘; D20GHSOND et ebalelol
" H e o, =
which l-_s;tefm::;fgﬁ o eir financing I SEBI (S8 (537 - 6308, BIS
- through the issuance of f"ﬂﬁ' Sobads 2 E.s;‘ﬁém 2wk
;rements F ;’i“" -55*33 28 st 0 RN yob
Egcuﬂ"ljﬂs- e i
it ; d the minimum ticket size o = i éé:’a‘:ﬁﬂw éc}‘,]@.
sEBI inereast :  epadordhe ardid %
111 18 pond inves ent in order 0 |£%e8 yarowd
of corper® jnvestor respansibilit:r. = e.p":.:. A ﬁm?":ﬂ 806 arol |
E”wurjg: with the RBI introduced the SEBI mgagfg D 82D 503yl !
gEBI 8177 g opeme. Iv. '
v il Direct Se | Hﬁffmé' ey SEBI 80265 B3O8 N
yer using the codes & DB
gelect orrect © O B 528 Oﬁ%um oD HBS
: 3 %a B4 )
gil-'-ﬁ" pelow * Mﬁ:‘ﬂ!‘a‘ﬂl Sota®od . HAIO -
v o 24 :;j e
2 W I 8n )L 1 B8akn IV
yand Y @ I Sty
@ P py 1 @ 1 dseo o
On
(4)
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{39)

» the ‘Payment Layer has
reduced the cost of conducting e-KYC,

Code :

(1) Both (A) and (R) are true and (R)
explains (A),

(2)  Both (A) and (R) are true, but (R) does

not explain (A).

(@)  (A)is true, but (R) is false.

(4)  (A)is false, but (R) is true.

Pick the correct sequence out of the following
sequences with regard to the present
prevailing inflation trends (in percentages) in

India :

(1) Food Inflation > Headline Inflation »

Core Inflation

(2) Headline Inflation > Food Inflation -

Core Inflation .

(8) (Food Inflation = Headline Inflation) <

Core Inflation

(4) Core Inflation > Food Inflation »

71.

Headline Inflation

@

[A]
808 &odstm (A) ®Bcty sEHo (R)
D0Mdosos Bck) HBH 56
«otng'os -
SodSGen (A) -
BOBAT PE DI DS SHBH
|23 B3erss BT, DHE Sy

SO SHcH Bire Amard CIrE e
@BoDoD0s. Bod &-Izh DS
&) Shod. '

5020 (R) -

204 PE Bot ROLBENES SaHE
ODEON  wotnod HBcky  HeleS
BTOoy BB e-KYC DB noHI®
élodod,

€5 -

(1) (A) HOCAW (R) Bodyr Do ShlaleV

(R), (A} DSBDoA,

(A) SBc® (R) Sodr 2D 55 (R),

(A) DSBoSB %,

(A) V&0, wond (R) &),

(A) 823y, ®ona (R) D20,

(3)
(4)

PESBHoS’ S0 &Sy  I8Shem
StmoH @F=S) Jowodod oA
Bened’ H0S 18570y JohE'od :

(1) &3 |5S10)R0 > DS (GShoy0o
> B0(8 1SS g)e0

DS 1B 5000 > 88 |85 e300
> So|& |88 emo

(63558 | OS50 = DT
LGS:GJE‘JU} < S0l |85 o0

goi [BSemo > 80 BSse 0
> DTS (BSgo)@0

(2)

(3)

(4)
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{40

eComing 9
g, g ke
II. T, Pronounced in
¢  Bhara
Go L Attg Nitiative of the

i:ﬂ thE ¥ "
2l h’f*ﬁlmung of 2024 gwing to
e INg commodity prices N
. The Bh ini .
arat Dal Initiative has also been

Se!;?e;ied to include moong dal
™ : .
given below : S R,

(1) HandIV (2) Iand II
(3) 1II, IIand IV (4) OnlyII .

Which of the following statement/statements

jefare wvalid in connection with Enhanced |74,

Access and Service Excellence (EASE)

Reforms ? )

I. EASE Reforms are gﬂ?’emﬂd by a board
of directors, who are heads of premier
Financial Institutions in India.

d just one (01)
EAS Next p me ha

- rjmfty-th Common Reforms Agenda. |
’ . oring excellence in Ell.'lﬂtﬂm&r

. Dﬂh? with digital enablement 18 ane of
iﬂ;ﬂm themes mmeptualized as part

e fo
of BASE 6 . tended for both
Refor™® = ell as
v EASE Banks (PSBs) 88 W
public Sector o
NBFC# , answer ysing the codes
seloct the &
{:” ﬂ.ﬂlf I”
fand
@ bl
@ 1 and |
{4} 1 Bﬂd

co : n
ANCctioy v "eNUstatements | 73-

Y

08 020600 ECLNHE

(BSsONET) :
BSOS’ 2O/ TERWED Bageny 4
sadoS e OI0E) Hyalh (iag

I.

111.

ESEUJWD (57 I Eﬁﬁ‘iﬂjm o
5806 D&op S EQDAROR.
osgios’ eSO,
SopoBosdod WIS T
S aolT .5'{55.? Aedcgdad My
0208,
m’&}méﬁl Ioge Goe sdaom
0024 Lﬂ-ﬁozﬁcé‘ oBd (BSfwm0

Aedobom 26008,
JojaRs pié &y

V., DHE DI
nHooTd.

SESS Sro®
Ehe FOAIrAod OB

AHS 2S5BS
Sy Joths'os
: (2) 15080k M1

(1}

(3)
DeSaFe0.)
8251, (EASE)S
DS
I.

11 Sefdiv IV

11, I So8asw IV (4) IT & edah

5 cSrE)n Sodain 5850 58S
Ho20800 (808 (D5 /
S DADD Teparey e9HEon ?
EASE odjdesen arSSTE0SD
DTS efs Do e BDEENIT Bd)
BB50 ST G ErotndEan.
EASE 8558 (% 3d00 28
(01) [ FTSS GOd — S 830

B0,

L, A26d JFendDodSs §x00 35

IV. EASE odydmen |930é

BasS @odotdo ©FO EASE
6.05° artior rdroBodnas Tel
SSeres’ 2.5¢63.
5 ﬁﬂﬁ
Zrjofen (PSBep) eer n5-arso8on
DUPAHS  Sonden  (NBFO
Bodoesd aFFosagrow.
o) NBO

B 135288 e aoHard

NPT JorFod :
(1) I S

(2) 1, 1 S80% M1

@ 11 8asy v

(4)  18ak Iv
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s Which of the f'ulluwing feature/features is/are
Treet regarding Stand~Up India Scheme ?

L This scheme

enterprises

enterprises,

II.  Non. Individug
i | enterpri also
el igible tq avail IR

'CE
lL k! i 3 rta-tn- mﬂdluﬂ'ﬂ

3o rawal of Working Capital up to
b akh, the same may be sanctioned
Y Way of Cash Credit Limit.

:md“ Primary Security, the loan may
Secured by a Buarantee of Credit
arantee Fund Scheme for Stand-Up

India Loans (CGFSIL) as decided by the

Select the correc

brownfield
with  greenfield

covers
along

IL.

t answer using the codes

given below :
(1) IlandIV (2) TandIIl
(3) L IIandIII (4) Only IV

Consider the following statements regarding
the RBI's Digital Payments Index (RBI-DPI) ;

L The Reserve Bank of India (RBI) has
" been publishing the RBI-DPI with 2021

as the base year to capture the extent of

digitisation of payments across the

country.

II. The RBI-DPI consists of 6 broad
parameters that have in tumn
sub-parameters.

III. There has been a constant increase in
the RBI-DPI since the time of its
inception.

IV, “‘Consumer Centricity’ is one of the

parameters in the RBI-DPL.
Which of the above statement/statements

is/are valid ?

1) andIV
(2) 1,1IandIV
@) 1 and IV
4)  Only III

‘_ .

(41

75.

76.

[A]

Tob-uD wcAagr G505 Sowodod

508 BSBASELS Haan HDS8D 2

L & 3¢% AshE D05 DB rén
(TS DoesB| ek ercsy €158 Fob.

LS Jodhen >a8 58886
ROYe Srar & Hisko HErEaRy

FoBoths edpey,

10 ofe I8% 56,08 staod |

DAEDE, Stk I36E D608 orior

002" Fobdeny,

@GS FOSE Jew, 2rjofoen

RQONODIERT, Foh-uD BoAr

S'So 890 3846 miBos D08 2%

(CGFSIL) Ging; mBoef oo

Q)] rt s sbo TohSeh),

O a8 Fhod aidriod w0

RFLITRY), DothEod

(1)

(3)

III.

IT co8cin IV (2) 180w Im
LIOD0CIT @) IViradh

RBI-G26 6 TdoHe JSrdE (RBLDPDE
020600 (808 |HELSO& HOKBoSA -
L. Babs argof oD =olAdir (RBD
Siagor Bloje A2RIAS
D0 doray Jdhardd 20210
&% 2096 RBI-DFI D 150880 s,
II. RBIDPI 6 &H-aroéo &ob
2R o 500 Gotnod.
RBI-DPI | 2005Dd0)8  Sod
NE0S50 DHHErs $od.
RBI-DPI SF oo’
DITFrHSHE  odohy' ©Io
2.5¢3.
2 DEES / [DELIOS JODD Tearen
)& ow 7

IIL.

(1) 11 6ck IV
(2) 1,11 8ckn IV
(3) I Ssan IV
4) I ST
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77. Which of the fo
llowi oé
qualifies/quali owing satementsatements| 7 o500 ¢
th qualify as valid in connection with ;_ma:oa Mgoﬂ"
Ebﬂnkin 1 I
8 mechanizsm in Indja ? Eﬂﬂ’m@
A i D08 25)8 (552 2l
creasing the Cash Reserve Ralif : 5:;531'165313 Do S0 B0
(CRR) will result in increasing credit 590 = GO0
creation, ‘ -,
» . S 2650 058 (4R 02D
i A Tk
Il.  Cash Reserve Ratio (CRR) applies onlY a:JEEI'J{CRm iioa el
to the new deposit base while the mé'.ﬁ) 5;.-:-: ;;C) 5549
; e A
Incremental Cash Reserve Ratio (ICRR) ﬁdﬁ}é}él »
QGLg:_'.Jané gss 0z0S Badir)
specifically targets the new borrower ( " e
o S (ICRR) 3550 s§ Golrs
[i1. . ‘Tenor Premium’ i a0 important 1. 5rgsS TR 6P HoB) 55 Sodof
component in th° caleulation. of e &¢5 (MCLR) & B (2O
; Lending
Marginal Cost of Funds Bt 2,& SnPIDS 10
Rate (MCLR)
, v, Sr88é  arodoh 220 (MSF)
__ pacility (MSF) s & g
v, M arginal gtanding AlsOs arOn
4 as a long o™ policy rate and 18 aHErAoBDES0O S0l
Bank Rate
o Jly lower than the | oo ersos den So® ST
&otnod.
using the codes ”
Select the correct 225" B0 B 5B Shos adariod el
given belo™’ OSrEEd) Jos'od
) yand IV (1) T80k IV
@ o m } @ msmed
(3
@ only IV )OIV Smed
(4
L rand ™V ' LI S8k IV

(4)
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B In the context of 1
congider the foll

 f

’.‘diﬂiﬂ fight against poverty,

OWIng statements ;

E“Iik{' the Global Multidimensional
overty Index (MPI), the National

Multidimensional Poverty Index (MPD

developed by NITI Aayog does not make

Hse of “Alkire-Foster’ (AF) methodology-

The urban Population witnessed a larger

decline in povert
¥ as compared to the
rural population, .-

III. Pradhan Mantri Garib Kalyan Package

(PMGKP) includes the coverage of food
Erain entitlements.

IL.

The Multidimensional Poverty Index
{MIIF'II is computed by adding the
incidence of multidimensional poverty
and the intensity of poverty,

Which of the above statement/statements

(43)

is/are valid ?

(1) TandIV
(2) OnlyIII-
(3) TandIII

{4) None are valid

In connection with the Urban Infrastructure
Development Fund (UIDF), which of the
following statement/statements is/are valid ?

L The fund will be established through
reserved bonds taken from the G-Sec
market.

II. The fund is to be exclusively availed by
private agencies to create urban
infrastructure in Tier 2 and Tier 3 cities.

[II. Eligible activities for UIDF shall be

connected to the Missions and
Programmes of the Ministry of Housing

& Urban Affairs {(MoHUA).

IV. The fund will be unﬂn.ct:ivel;r managed by
a cluster of Municipal Cooperative

Banks.
given below :

@ Oulyl, @ 1,Mand1y,

(4) IlandIII

(@) - II, Il and IV*

[al

WOOSVE 5iBBdor resdio SRS

VoL D066 08, & 1B0A (HEeSe
HBKBOS0A | R

L rdcds ajolndach Hasd ard
IMP) 38 s'Soogr, HB (NITI) esEirh
?ma@ dd 28db  asuadh
2008 Ard (MPD) ‘eg,5-055 (AF)
VBN AHTPAOE.

I rave zverd $#0% vee sy &
DS 0HOr Edodos, =

Il Derd Ho@ K88 Svid e

(PMGKP) &30 orajer dpsoyer 5504
GO0, :

IV. advdsch HA8E 20D (MPD &
ToAH HedEo Hbay HSBEo
Sws) ASSH HBosdo oo
gy

D 1S5S / (DHELSod’ D800 Teeren

B Cw?

(1) I58cin IV

(2) I Sregssdh

(3) 1S86cim I

4 2839

PR oIS oo @SR

~GSUIDF) Soxofod, 1Bod (D86 /

IHELSOS DA Tevaren edhEron ?

L  G-Sec &70,¢5 08 B0F0AS B2ty
2ol oo A6 Fraodudidod,

I BB 2 SHock B 3 MMod Sy
eSTNS rioiod drirododaris
& DO HEggor RIS B0 oot
Foddadénod.

L UIDF §%0 ©dé SOAS soiSoraren
Bosrdorie OGN JGH Sid'To
20885 7 (MoHUA) Glo8y deR
ZaBain s SAresy

HoORotnh GOLTaN.

v z&ggﬂ;aﬁw SpRed Faindes

2r %0 s é‘?b ot ad
SrOL) Q.
Ao Siaas SBod adariod 1D

[y Jocood
f;fw Iumié‘.‘&:- @) 1,11 HBakn IV

(3) 11,11 Lockn IV (4 11 SaBckw T




80.

to the

Whi ch

statemenustatEme
Ntg

of
; the ﬁ:nliuwing
S/are Valig 9

Yatem in

I

I1. )
Mentnrshlp, Advisory, Assistance,

Resilience and Growth (MAARG) Portal
18 an exclusive one-stop platform
intended for guiding startups in the
emerging Aritificial Intelligence (Al)

sector only.

[II. Startup India Seed F:I.I.Ilﬂ Sche:-ne
(SISFS) aims to provide ﬁn&n:fuaj
assistance 10 startups for conducting
‘proof of concept’ trials.

Scheme (FFS) for
f Funds _

IV. Fund © .. meant 10 contribute to
Stal'tupﬂﬂ;maﬁ = Investment Funds
va.'riﬂt;-ﬁ el mthﬂwsEBI
(AIFs) re8*

, answer using the codes’
e
:;n below *
1!
(1 j and ”
v
@) 11 and
(4) Dphrl

.

{ 44 )

g0, oS30’ FED AEVPIK 4q,, Q
8068 D80S / DSOS’ DB/2Y 5.,
esagEron 7
L gD of-DBTS R08HHS gy

80 58000AS B8griye e

DS MANAGE (F36 o
porgS e efto)d e
HTLDos) Dol ey
SeroTHED.

n  Srgadydo,  Qedf,  Jdifdhg,
PAFDHES O H9D  (MAARG)
TTa A ool afhhchd

20LOES) . a8 DY) (AN
2gbs’ rfhod ardaddo
Tobhas .8 (DBEDS S80S
ardan.

L FED 20805 DG Hod 3 (SISFS)
TEDoH 19D 6 TR (Wabd)
AEserodorRs eadd Do
e0H0080 ©f jor eEPsod.

V. Yoo FH0 206 e Hobd) D
(FFS) &o36 SEBIS 8235 Sabadd
DS DErArich DEPd DO

(AlPew)  drsdo  ©ododaE
aG 7002808,

B @908 Fhod aouriod Rl

NSTErR) Joth§od :

) Tbain I

(2) 11, 111 8080 IV

@ 80w v

4) [;ﬁy@&.,
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(45 )

Consider the following

o Assertion (A) and
4son (R) and choose the correct code :
Assertion (4) -
Th :
¢ National Product measures all goods
and  services that arise out of economic
activity, whereas National Income is the
sum of all incomes as a result of the
eCOnomic activity, These two are
Synonymous,
Reason (R) ;
The Production of goods and services is the
outcome of the use of capital and labour,
along with the raw materials, and this
automatically generates income.
Code
(1) Both (A) and (R) are true and (R)
explains (A).
(2) Both (A) and (R) are true, but (R) doeg
(3) (A)is true, but (R) is false.

(4)

(A) is false, but (R) is true.

Ell

808 Bad86em (A) SO $6mo R) e
“Ofidodod  mBofn  Hps  EBG
DO d -

T)dSSeD (A)

2ech & 8 ola alf sifersre

O ad)NNch; ey SaDyen
00 Rdod Tendod, eond
280D Sorabo wF6 el séEodre
a8somr 333, fﬂrﬁl sordire Judo, &
Bodr SO chioren.

5o (R) :

Siapen DO Bl ad® wFe
308 dorgod ey, redso Hoay
F dRdrio addor I8 cudod
Sobcin 2d JjohoTroor sordird)

dréh el Trnod.
&5 :

(1) (A) SHbciw (R) Dodor dz0 SoBacin

(R), (A) D DIBR0E.

(9) (A) Sobdin () Bodr a=th, s (R),

(AR D60 T,

(3) (A) S0, esond (R) 8230

) &0,

(4) (A S eond (R




II.

IIL

P
L= T Clﬂuﬂ&' under th.e Bali
ment, reitﬂf&tag

ThE ";]_'Eﬂn an'l pm}ﬁhm thE = Df
direct payments to producers which are
not linked to production decisions.

The ‘Reduction Gﬂ;.:ﬂ'ﬂitmmt,a' g
expressed in terms of a “Total Aggregate
Measurement  of Iié':iuppﬂrt.“ which
includes all product-specific support and
nun-product-speniﬁc support in one

single figure-

Any support that would normally be
the ‘Amber
«Blue Box' even if the
farmers to limit

5 Box', is not to be
plal:ﬂd n

Ty
[HDo ez doy (WTO)S ﬁ? Ohs,
ad)y DT o Ci 3853008,
#Ho20B00 1808 DEOS [ |HE, Sos

NADD TeReTen ey 7

) 25)0S0ER TS dy ot
@DI390 To®SS) BTen HIE e
250Dof HE5O SEiSSTO Fho 194
LOoR  HOWA  Wosssraxs

HSSHGER0B.

L S 28y 688  djoros
Sowodo B dosoH
Foye SOTr Aoty
DRSO,

‘Shod Seperen’ TS “Sod g,
Twdo Fos” HSorr S5848052808,
| 20 e &eb)8-000 L
Bckn ered BTHSE-DOH Do 23
Do’ soenosd.

mi.

VETORoT ‘srcho DY (€00
TENS  aod  Hgw W
W oEyS dosadm, 253808
OBo%H G838 samso JA°

SB00$H638

Oag i
Ebﬁl‘m@‘aé‘gma‘é FGo anairnod ol

;)l QD:;&,?Q& :
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3. Consj ;
Remder the following Assertion (A) and |83 500 Gad€5em (A) 280k 680 (R) O
n (R) and choose the correct code : - D0fdotod  HBalm 288 €65
e SoTtOE0A - =
S n (A) : )50 (A)
washing  results in increased e soiido 3o 1
| _ : 2 G8)d >
5::;&:3“ efficiency and  reduced|. 20iheéod Hbain ?,at.p:.;.;uh mﬁfﬁi
s ent costs. However, the use of Sheon,  wondsd BE rdsdiods
coal in India is still limited. SOAS FMH o mo e H8e0
Reason (R) : 500 (R) : '

& >abo H8E FHSH oS
@d)8 J05rd) DodBo oot ST
SB0 30 D85 e6E ndroh
200 Fodfiod (DESre (Herdo
DERSONT grSS S OR0M THSH).

zha: :J;mtad establishment of coal washeries
washi “m!"’“tﬂd to the perception that coal
ing by increasing the cost of electricity
generation, would adversely impact the
plants in terms of ‘merit order’ scheduling.

Codes 6

o (1) (A) D SHB8c%y (R) Body
E;ipt?nj_n_{?iﬁ?d (R) are true and (R) (R), (A) D D ;3523!]01.’.}. AenRtcn

(2) Both (A) and (R) are true, but (R) does 9 St ) Sader el =0 ()
bt arhy (A DSBoS Teb.

(3) (A) is true, but (R) is false. ﬁ,‘t Ei; g?; gﬁg T:E gggf

(4) (A) is false, but (R) is true. 84, s @&;ﬁ.ﬁ; Lgte ESDGEJH-Q Q0VOHO)

1808 |HELS / DESOS’ JORD Teyeren

Doy E O ?

L 105 ogid) rdodarad cdussesy
HIFSDS BSS0 oAl Hod) DD

Which of the following statement/statements
isfare valid in connection with Sustainable
Development Goals (SDGs) ?

ieving Goal 10 will require an entire =
L e the financial system that @ yirod eQs 3539 g Swdo
promotes equitable pay and decent work 50060 8500.

for young people. I zrésdiod  SDGO HosHE e

[I. NITI Aayog has developed the National Hodeso Sohans V8 (NITI Aayog)

. Indicator Framework (NIF)  for atirh Sass 2od0b DSty
facilitating monitoring of SDGs in India. (NIF) & D538 200,

II. ‘Mission LiFE’ aims .0 influence L 'Das B9 DEDS 0o ::;ﬂo‘i:.;

' government and industrial policy to 65,8 0808 Hp @IV

ST | 1, PSR U e

of B citizenship w2y @Syl ©

v, The comcept e povopmen| V- 43 580 005 bsesbD s

Goal 4 (SDG 4) is a reference term that AR R Sob  SroySe

 dicates faxible dzmualp nghis ® % . agios’ Orod

countries, for the purpose of
m ting better labour markets.

Sﬂ'}m thﬁ cm-rect EﬂWEr “m'nE: dlﬂ codes

S$30
‘:Eg,ﬁ E0Ss THHOD

AP DE0: e 5 @BINOD FOS
B B358° Sdoa.

B ; - v
. given below @ ILMandIV c,-%-;a;ao @ }iggm
W A M LYy @

Lm] Only 11
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85. Which of the following
regarding Human Developmen »

h

.

III.

Select the correct answer using the codes
given below :

(1)
(2)
(3)

(4

(48 )

statemenyg are valid

Twao countries
Gross National
but

with the Bame leve]l of
Income (GN1)
ending  wit) different human
development outcomes ig indicati

Per capita,

ECore on

Adjusted Human Development
Index (IHDI) g not the same as jts

fnequa.lit}r-

Human Development Index (HDI)

even
when there is no inequality among
people.

In Gender Development Index (GDI),
values  below 1 indicate higher
development for women than men.
Planetary Pressures-adjusted Human
Development Index (PHDI) focuses on
intergenerational ine
same way, as the Inequality-adjusted
Human Development Index (IHDI)
focuses on intragenerational inequality.
According to the Human Development
Report 2021 — 22, a new uncertainty
complex is emerging, which comprises of
three new concerns — planetary changes,
transformations and

inequality just the

sweeping social
polarized societies.

IVandV
I, 11 and V

11 and II1

I, Il and IV

86, ST edSyE8

[a]

HoBOQOD |80s.

|DEL@OS DD Tweren ®Hmrawn ?

L

IL

1IL

Sod8 Gro rach eordho, (GNI)
28 Frond &) Dot Twen £
DAG  Srdsd  @dde  HDmes
Swfchdo 8dSHQ 508 390 TwE),
s ArDRoD.

ossrSsD OFo OIS, ;M6 -
Stharen dabadS drdd edS%
ArdE  (HDD |Pzed’ ©ddrds
Fs588 o S8 ®HIYD HrdE
(HDI) 558 &oddhn,

Dofl edIHE JHrds (280)S, 1 o
SEye  Dewdew plpe  How
aar¥ersy wdHE @I )00 Hrdaran,
TR0 (2Ab) - edd, IS
ool =088y  (erSaAD)
S0 D BHITIS(RoLEBIBAS
BOArdS) D Sya THRN0S, ed
APOMT @JHSrdes-oleren THI
AP @dSH  ArdE (TrSAD)
S0 SV DS ¢ ddwrde
NP  OIATSS  (DOErBIBASS
OASTIS) D Sa DSOS,

il ®DBYQ  JAIAE  2021-22
105780, 28 T& @A Holde
A0S, @oBHS Swrd T8
BSOS den agamon - e
Srdyen, PSP} s
HOSGSeD DHBGKY (S HATETED.

B80S @S58 Thod adEriod 0

(1)
(2)
(3)
(4)

") oS0l ;
IV 8ok v
L I s8¢k v
IT dasw m
L IT o8t IV




Boa

(GNT)
] E'lb
Ty
Dog;

598
eS¢
nOE

+1.51
=1}

ed
.g]
s

Ml %

-]

WA A WA b

the
Government of erventions of the
L] 'ﬁ-n-d_hrq Pr'ﬂde!h »
anea]thEm 2 In the context

L

The Family Doctor Programme has besn
planned to be implemented as a
standalone project without the need to
be integrated with Primary Health
Centres (PHCs).
[II. Dr. YSR Aarogyasri Scheme has been
revamped, by increasing the income
limit from ¥ 25 lakh to ¥ 5 lakh per

annum per family.
IV. ‘Aarogya

, parnt.iva
Prmndt post-0
with  certain  eligible

conditions complied with-

gustenance

allowance

Select the correct
given belo¥*.
1y TendV

(2) ﬂfm'"d.w

W'Echameiai.m:andndh.

mand V
g, and ¥

(3)
(4)

u

(&l

R SWlements are valid |88, @y HB6E® Dhcod' BoSDHOA

Sy S'egeth sonoton  15od
HfoSoS’ DD Teperen wayEron

L ARS o5 oo R OF RO
Sodomsy o) sdwnS woé
S wdckn INH  HoedsS
(AB-HWCs)  ©OmARS Zredgo
worend' @ob.

I Senon Do HEFR) PGS
w s foorod (SR
BoI0Tdod)d ©sdto BT
26 Fob 85 @BET e
Fosps Herds Sevatod.

[IL S400irDs  Soss ot acdd
288D T 25 ©FO HOD T 5 OLO%
250580 oo ol Bohwb wdi?
G850 Hth@bodadoh.

v, ‘eft; wior H¢so FR) s

Hdded adHBAS ososd B5ST0
Zerin) wodotardl alTodadod.

A% BSas Fhodk ad@riod B9
HEAroTR) SohTod

(1) &0k IV

(2) I, T Sdcky IV

(@ I S8ck IV

4) 1, I &bk IV
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87.

In and
infrastructure in Andhra Pradesh, which of
the following statemenuat.ntementa

valid ?

is/are

I. Andhra Pradesh's firgt riverine project has

been proposed between Muktyala and

Madipadu on Krishna river,

I1. The Bhogapuram Greenfield International

Airport had been started with a corpus
fund that ig sourced from National
Investment

and Infrastructure Fund

(NIIF).

I Infrastructure investments in Andhra
Pradesh are strictly implemented only
with reference to strategic investments
like ports and industrial corridors, but not

with reference to community assets.
_Rail Over Bridges (ROBs) are being
developed in Andhra Pradesh under the
Setu Bandhan Scheme.
Select the correct answer using the codes

given below :

(1) 1,Mand NI

Only IV

Lt

[ and IV

(2)
(3)

(4) OnlyIl

{501

87.

@

79

& oo D00

Leed

ol HIOBT
sepirasrely H020600, FO0 Bty

HEedOS DB/DD TR BBy
g N@&‘E SnsTpe «0dcin :llﬁgl;‘_‘em
25658 SOHHTEFS DBS sy,

L

rEY Bl Gogaleinralalelal

I SJass, A o0 ©ob afHas
%08 (NIIF) o0& DEBoDS suy
50568 Smyco ROLVIASS (ASL

Jonbaf |rsododadod.
M. eodHEis’ &0 dddrdr
aepadoey 4S89 Hbck

FOTE sOEQ Sodd el
Padheordy  dooHod)  SrSh
ooy Tobadeon, TH H8re
BROK HOVOHOD S,

e 2048 Hid¥o 8ot wodHTTS
85 4356 D@en (ROBew) ©D3)8
Sabaerar) o,

O 3350838 Fhoss avaod HB9
RAFETTR) JoHTod -

(1) 1,1 580% m

IV (e85

10808y 1v

1 Smes sy

(2)
(3)
(4)
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- Which

is'are

11L.

of the f,
[1]) P
DIWI“E Etﬂt?mﬁntjmm \s
ihcﬂ’m! men

2ve B a
% Minimum contribution of

25% by ;
by ndustry i the State GDP

Tao i
Prov

ide  end-t-eng facilitation in
2 weeks

To Enﬁaage ten

(10) priorities of

accomplishment

To focus on becoming a “Plug and Play
State’ for investments

Ensuring land allotment by APIIC
within a period of 2 weeks upon receipt

of application

Select the answer using the eodes given

helow :

(1)

(2)

(3)

(4)

11, 111 and V
Il I]"" ln Bnd v
Only V

{11 and v

(511

(2]

SO GHTT >OFDE Dordo 2023 -278

SonoBdoD (808 DILS | PSdes
DG Sad)?

IL

IIL.

o2 GDPS HBEMe TIT £
Aipedo 25% rHoOERE
9 o Job-tn-d0b DHOBIS
oot m s
sl S02080D8

a8  ao;

P e AitrodA0

nepadie Foo Of wod 7 RE™
ArBA0D Gon DHRERE

SBgvy wobd Soged 2 JUW
38 woHTs ;BFE FO8
;}r:‘.x::;."rlo‘.‘mu How (solHdd
Z0AR0HS aSEMPEE £TIVLS
OBE) D

(APIIC) &rgo°

Feronoayed AFHBotito

8hHS admds Thod  adIBrfiod

HArCTR) dothsod
(1) 11, 11 Sobcko V
(2 1,111 Sobdin vV

3

(4}

V Areah

11 Svbado IV
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{52)

89. Which of the following Statements are valid in

connection  with  Andhyy Pradesh Green
Hydrogen and Green Ammonig Policy (2023) ?

. The objective is to target Green Energy

production up to the Capacity of 1 MPTA
(Million Tonneg
Ammonia production up to the capacity of
2:0 MTPA in the next five years,

II. New and Renewable Energy Development

Corporation of A.P. Ltq (NREDCAP) shall
act as a Nodal Agency under this policy,

All the Ports in the State have
infrastructure for storing liquid nitrogen
which can then be utilized for storing
Green Hydrogen for exporting to other

countries.

The Poliey pmhihits the production of
Green Hydrogen/Green Ammonia by
using Renewable Energy and/or Biumaaa:
from “Third-Party/Power exchange'.

Select the correct answer using the codes
given below :

(1) IlandIII
(2) TandIV
(3) 1,1Iand 1N

(4) TMIandIV

go. woH8T BS Eas 208y

'ﬁ

&

gk

BRI FOV (2023)8 H020800 8oa
(HELSOS DD TRren vHeray 9

I.

118

o&'ah p8¢S" 1 MPTA (Joge 3o
DO ey en) Y0 568, e
ISR &3S Bor 20 MTPA Dy,

SE80 1A ea3rR0ST ared 8 ©%s0n
TewSdo ©f jo.

S5 @08 BAvSd e
Gaenaod & 0AS uf)

O|HDBT OWE (NREDCAP) (74
200 eS8 oSS LEANY)
QoY AP Lid)& Jod o8 S48
DBAYT S5STON0E.

O(R0S'D 1) 458" (653 Je=a
NOg TAHhTRE STOE Hordires
G0N DB 2SS Bro b
Dohardd  AS xS de;
Db GOTWrACLSD).
SR-IQHSE o808 dod
aYeSSoEr )5 58 Jubatw/Eor
DAV SdTrRosso oo (19
E'Lﬁarsiﬁ& [ORV T Toviy &880
PO VDO,

BIOS B3 50AS Fherm aaairaod 03
RErTTRY, JocHTod .

(1)
(2)

(3)
(4)

II S8asw I11

[ SoBaiw v

L II oB8asw 111
M1 8ok v
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0.  Which of the

1=/are

statu

I.

ITI.

Gelect the corTe

given

f“”“‘“'ﬂu-l. slatement/sllements
vali : ; X
alid regarding the socio-economic

2 of Andhra Pradesh 7

Andhra Pradesh won the Best State
Award of ICAR - National Research
Center for Banana (NRCB) for export

Promotion.

Andhra Pradesh GSDP growth rate has
been registering a decline in recent
times owing to repeated lower returns in

certain sub-sectors of the Service Sector.

Far the FY 2024 — 25, the Revenue
Deficit is budgeted higher than the
Fiscal Deficit in terms of percentage of
Andhra Pradesh GSDF.

The technology used by the Government
of Andhra Pradesh while conducting

pesurvey of landholdings is referred to

as ‘Continuously
Stations (CORS) technology-

Operating Reference

ct answer USIng the codes

helow :

{531

a0.

roedd
solSHET  Glosy apasraas-ess we
oty g8
Honoho) Bod L;:.gm,.ﬁ | |aStaaesd

SADD Seeren wgsron ?

i

I

1L

amma LQ‘E':I:??Q 3".::33 [CAR -

401650 (NRCB),
@D

o8 aoh HOTET
Sng odd oW
w0l SHET AooHZood.
4> dofio SN FTED sord’
sHHE  Stopsd TRHO SO
wsoldHBT GSDP 5@ Bew =SSO
geod §ndd Sarc B8,

FY 2024-25 0, so|SHE8T GSDP
T Hbor Basr St s |85
S S0t ST aod.
Ardeod 6305 TSI
eolOHBT DI o

Froiatdd '‘Rocsdor

Sradirios
T A
A5BS WAaSen (CORS) rosSassam

AT e VR

&S B 088 Thod $ITrRoD JB&S

AAroTR) Sotnsod

(1)

(2]

i)

4

[ Sabdin IV
11 b 1
11, 111 Sodaio IV

[l driedady
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( 64
Part p
o Geog'raphy
91.) Following are the j
1 . ; a1.
voleanic  activity ar:.:]]tr:r“-rﬂ Iandfurmsl of
features : ®Ir - characteristic
L. Batholithg
* Huge magg o
usually granite nt l:l-: dﬂf igneous rocks,
tha_c_rugt_ . eeper layers of
IL.  Phacolig} . |
a dﬂme—tha : aneous mounds with
11 - Ehap!-'.i Upper surface,
' t?]" kﬂal, ‘?“y_'liki structures developed
the gron. Ying_almost. perpendicalas
o BB, " PPl 0
- Sills : The pe
ar
intrusive ignee. horizontal bodies of
W h"ch ﬂfthﬂ ﬂ.bﬂ\i‘e are oo
rrectl
(D I,Mand1m TR
(2) Llandrv -
(3) LI and Iv :
(4) L ILIIand Iv
92. Consider the following statements - 2.
L ?ihmn and oxygen are common elements
in n]l_ types of feldspar and sodium,
pﬂtasn‘_lum. calcium, aluminium etc. are
found in specific feldspar variety. ]
II. Almost one-fourth of the Earth's crust is

Which of the above statements is/are correct ?

(1) Statement I only

(2) Statement II only

(3) Both of them

(4) None of them

Identify the incorrect statement :

(1) Geomorphic processes bring about

ges in the configuration of the
surface of the Earth. T

(2) Diastrophism and volcanism  are
endogenic geomorphic processes.

(3) The ;ﬁdng-enic and exogenic forces cause
physical stresses and chemical actions
on earth materials.

(4) Orogeny is the continental building

composed of feldspar and quartz.

Process.

q

8D
ari®
wDOITO 150

Lsof;a woS§H  BIOIED, ing
I DR BT bty dae
SEOS ¢ BT By .

L georr &0 |43 P
S5 & SBS ) Fou,

1 %08 e : w6 e
T 08)8 o0 B by, U0
;B0 JONBJ0DS

as e F? ” e 2o

II. st

OrETYy ©OOM erod ) Mggs
:}d:}mm.éﬁ& . M' =
: 80 @y "
o ﬁ?ﬁﬂm RlR gjﬂ‘sm_ o
= HES 3 A
é’fadﬁa?ﬁml? e
(1 I, 11 0bcin I
20 LI S8cinIv
@ LI Socky IV
(4) LILI S8ak IV
1808 [DELSOS HONBOS0A :
L ®) 650 DE )b of  Ldes

0din wfyadd Dods Sreesy
iy FBaho, Sérhcho, sido,
BAFIAOH0 INSTID 83 35
Ibdsen S'F £05Faw.
L &0 98 So Zirdien, 2055
_ 08y 5758 & S0&h gotnod.
2 (BSOS’ DAY HBSH 7
:1} DSOS I Sy
2)  |08&eS TT Sries
(3) . Dodr . e
1) 8 e
ﬁﬂmgﬂmr&&a HCodod : 4
D 20056r0 (Si8cten zrm 6086
ES85508' Srthyerr) BRNST,
Sdeo Dirse Seow e
NEAD ©FTD  wogns WU
D(Ecewn, ¢
2GRS SiBoy eosgdd o
et ROy
BOO5 snndT |
VOISISE S0 oD e
VO 1580k,

(2)

(3)

(4)




%, Consider the following gtatements :

55/1G/10g

M. Soil ¢, Ek
1 & "
:'al:t-nra :unuun ¥ tontrolled by the following | Bd.
ri P'RI'EI'I.[ Miterig|
Iﬁ T“poﬂ'ml-'fhj;
I\.r‘1 Climate
v + Biologica) activity
“;h Time
ich of the abgy
& are
D Llenany T recton?
(2) I and 111 only
1d) IH and v Ii.l[l]:.l'
4) LI, IMand1y
ah.

Mntc.h t.he rﬂuWiﬂE .

List-J
Lise-11
i r'c{:'hudxj (Description)

- Larrus I. Milky appearance
B. Cirrostratus II. Silky appearance
C. Cirrocumulus II1. Cauliflower

structure
D. Cumulus IV. Small globular
masses

Choose the correct answer using the codes
given below :

A B C D
1y I n m I
2y II I v I
3 IV I I !
(49 m I I 1

I Doldrums are the strong winds that

have rapid gurface mavef';n;mn 1
n T B e northwest.
Which of the above statements is/are correct ?
(1) gtatement I only
() Statement 11 only
(3) Both of them
(4) None of them

o8 sdwen spdE (Ho) W0 50
miciro|Saron

1. sareh e

I Perdyd

M. 2&R53

. dAlsonods Stien

V. 50

=% hE Sy odd fairie séTen 207
i1 1 I0cia Il

@ 1 S6cko I &b

(3) T Sobdin IV Sres

(4 I II, 10 SeBchn IV

B0 T4 2dhttol |
ardlar-I
(Dgdirmeny
A Rl L

2rdler-11
(Sgad

apey HOL3
r::‘:g:.i;ﬁr?’.:a;&:[::

ey SO
Spdriraan

AhoS s (shasb)

IO IERO

DSy fwsd

L LEAT RS

&%S mSsohs §h0S GOIriod AR

Haroe) dochSod :
A B C

1y 1 n I v

@ I I IV 11

3 v III I 1

4y I v I I

1808 HEoded Hoidodod

L Ao Soderan oRd dodTod
£ADE5 SO o, andbseo D 3
L Medew.

1. adsodivod s ddore 23 &4
JainSion Gotuod.

B. M aren IL.

Cc. dfFfssweon ML

Iv.

D. SogneR

D

D (DSOS DADD B ?
(1) (DEOS T aredsh

(@) |1HELS T SrED

(3) Bodr
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97,

« {3) They affect g ]

4)

G/100

Identify the incorrect
extra-tropical evelones :
(1)

Etatement

latitudes.
(2)  They do not have a clear frontal system
']ts;-: tropical cyclones.
¥ can originate over the land and sea.

98. Consider the following -

L

Dry winter seasgn

IL  Nodry season
IV.  Dry and very severe winter

Which of the abo

features of Mediterranean Clhimate ?

(1

(3)

(2) ILIandIV
(4) I III and IV

) L II and II1
I1, IIT and IV

99. Guyot is :
(1) A mountain with pointed summit rising

(2)

(3)

(4)

from the seafloor that does not reach the
surface of the ocean.

A deep valley sometimes found cutting
across the continental shelves and slopes.

A flat topped seamount showing the
evidence of gradual subsidence through

stages.
A low island found in the tropical oceans
consisting of coral reefs surrounding a

central depression.

100. Consider the following statements :

I

IL.

III.
Iv.

In general, the terrigenous deposits are
derived from the land and are mainly

deposited on the continental she]'ms.‘
From the shore onwards, there is a
gradual increase in the coarseness of the

terrigenous deposits. _
The muds, the finest materials, are the

terrigenous deposits.
The colouring of the muds depends upon

their chemical content.

Which of the above statements are correct 7

(1)
(3)

(2) 11, Il and IV

I, I and 111
'(4) 1,11 and IV

I, 111 and IV

on

These develop in the mid and high

Arge areq gg compared to

Ve are not the characteristic

[ 56 )

a7.

100.

(2]

ADISRDHobO  SEFEOD &y

[DE&dah MBodod
(1) 2 G DO B wFopes

@380 Socverown.

T8 J)R DS arer | S Ty,

®) agdode OSTEos Fo

DS |ZroErd ) |H2rdso Sray,

4) @D ZFD DO HSVBO N
SO N0 e.

fod o3 Hbhedosod :

I Zesod b seo

II. &8 seo oD

M. 2rdd 38 35D

IV. 2so0 AT HOGH Trer SSom

AOLVOA
D TES 2D o ISPV ©fmren

50 ?
(1) LOOBE0 I (2) I I Socin IV

(3 IL I Sodchin IV (4) I, I S8aky IV

Hored e

(1) DSy @ Gdbserd) IS

RSy eachiberio HoB DSBS

D85 IS0’ BrAS Hdgeso,

E;Jm-@&muméa ®oth Hookn

T i DodAr 6

gl N 03 28

DG SfodsEor §nd HH®

Crasr God 2.8 ddde Inoedy &9

03 DA B8 30,

Gadode HIFHworeS Lo

S50 B o Aido, o Fols

. S (o0 D &) HEEY

Qo 5O rotnod.

1508 1HELSO8 HOHS0S0A -

L &rodoor, drads diaren #rd
0B AB)DOD HBAW™ (DHEOrT

(2)
(3)

(2)

(3)

(4)

goc:méd ®othed’ HE DHlyeron.

I. =60 od, Zrzads diare Qrod
(Beweye  HOSre0) (Saorr
2hE0s.

I, 208, ®3ArE; AT T,
250HOESDS D ren,

IV. 2088 alog, Som o8 Saradd
RO A SEFEHA dodnod.

B (DEOSOS' DD HBED 7

(1) 1,8 I (2) 11, I SHB8aso IV

(8 LIIDOSwIV (4) I, II o8l IV
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10y, Congider the follgw

IIT,

102, Consider the following sountries -

I
II.
INL.
Iv.
V.

Which of the above South American countries
have a Pacific coastling ?

(1)
(2)
(3)
(4)

1038. Identify the incorrect statement :

(1)

(2)

(3)

(4)

g sty tomenis .

The Grear p:
] Tt = :
forms a serigp, :-:::1-;;2:[!“-"’ in East Africa

M
ost of thE:*-e’ lakes are fresh water lakes.

the Rifi Vﬂll;e:.r_m at the southern end in

IT, 111 and IV
L IT and 1v
Ih Im and Tv

Chile
Venezuela
Ecuador
Peru
Colombia

I, I1, T1T and TV
I IL IV and V *
LI, IVand V
I, I11 and IV only

Taiga is the largest land biome in the
world.

This cold biome gtretehes aeross _u;f_-
northern portion of North America,

Europe and Asia.

ithin this biome, there is a narrow
L of temperatures between the
winter and summer BEAs0ns.

..o i io thig biome is moderately
Precipitation in the year with snow

high throughout

{671

102.

103.

sccurring during the winter months. -

L.

II1.

v.

[A]

101, (808 |HEsSed HOfdodod ;

drdhy sRsd'D b Hven S'db

(Falle 58, Ay (HeB
wd o,

& HEyns s arto sodld
rainu yea.

Lerd DXy oben  Sabd

&8 pdwormr s arod,
©ADOA wond DFBSEr HE, &
Hipen Sahd w8 grrio.

2 HEGA0E D HDSD ?

(1) 1,11 SoBchs 11

(2) I, 10T Sofcion IV

(3) I I-0b8ch IV

4) 1, II Sobciw IV

(B0 Bred H0Mdodod :
. Od

[I. Jderer

M. &siFh

v, dr

V. Feodair

2 &in ads Bed' 2058 85 Bocd
EOR &y Baen 2D 7

(1) LI, I SeBaky IV

2y LILIVabaiov

(3) 1,IO0, IV S8din v

(4) 1,1 Sobcln IV Srésh

BSOSV (HELSS KBOBOA :

(1) Br |1Hdoded'R waDd 4r
Aarioe o0,

(2) & s Aride Dodeo aad
a8, chrdh Hbckn whard'D
add 2o’ D800 Bod.

(3) & #Bribe Jodeod’, Feeseo
SHbciny J0D serer Dy At
S0 e 80 G0N0,

4) & Ardde SDodwod Igrso

DS ADT L0k GFN0Mm
A0LN0H, fewsaod S0t

Solfoeyod.
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{68 )
104. Which of the fo]jgy
Himalayas are ﬂﬂﬂ‘ﬂ(:rg statementg regarding | 104.

105.

I. Himalajras

1L ThE}' are w
the North

III. The folds

ide i

Match the followin

“eastern stateg

gically young and

fold mountains,

g Climatic regions of India

according to Koeppen's scheme :
List-T List-II-
(Type of Climate) (Areas)
A. Monsoon with I. - West coast of
short dry season India, south of
Goa
B. Monsoon with dry II. Coromandel coast
summer of Tamil Nadu
C. Monsoon with dry III. Most of
winter North-East India
D. Semi-arid Steppe IV. Northwestern
climate Gujarat

Choose the correct answer using the codes

given below :

A B
1 I 11
(2) 1 1
(3) 1I I
(4) II v

C D
m 1.
v I
v I

1 1

A

; \
srsrodiroD 808 HELIS O 3 93:"

L trdrodiren TS Song,

105.

DAY Héaw T RIS0m -'I:i“
2 jEre, 3

I 22 5'6-1"156' SBen)™ DoAY,
orlal'® alEIIT Gotran,

M &d)s rarocire Db 4
Diardo SOR a0l o8 g

- |rRSS Srd gotnod. L

V. &dd Hoay s :r::.;-m_‘
G5 Ged) NeNy NS iy’
Grm e eodrd. .

&S adsds Fhod aHdIrioy ;.

DTN oS od »

(1) II, III s38cn IV

(2) III8akn I

(3) I, 1I n8adin IV

(4) III, III sodain IV

S8 308860 (W5do arsSBiost |

TESCR [Frosreds 2855508 -
arda] arda]
(T&3e2 8850 ((arosey)

A S55 oA L fod s8ao
sood' arEST
SédSaren DBSaE0

B. 2435060 1L S53r0aS &
SrébadSaren ST
T4 Yoo Ke 111 sy
S&SSaren aredio &
w%0p.09 gm0
D.
TEEBDY 0G  IV. g el
TSGR0
QDS 23 g8 F8e0 asariod %';
TR, dothEod -
A B C D
D 1 I m v
(2) I1 I v 11
@ m 1. g
4) v I
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Within India,
largest catchme
ﬂ'I-E correct Fequ

(1)

Ganga river basin has the
nt rea. After that, following is
enee in the decreasing order :
Indus : Brahmaputra > Godavari >

2 B
Kﬂ;ﬂmwuﬂ > Indus > Godavari >

Iﬂd'ﬂﬂ > God i . I
i Brahmaputrg AR F  Eebny >

Brahmaputra :
* Godavari > Indus > Krishna >

major soils of India.
the areas of low rainfall with low
leaching activity, T
thfz areas of high
fainfall with intense leaching. »

the areas of heavy rainfall and high
humidity with good vegetation.

the areas of semi-arid climate with
Sﬂ]initr.?

(3)

(4)

108. In India, Sholas are :

(1) Tropical forests found in the Bastar
region

(2) ‘Tropical evergreen forests of Andaman
& Nicobar islands

(3) Moist deciduous forests in the
North-eastern states

(4) Temperate forests in the Anaimalai and
Palani hills -

:

-

109. In Andhra Pradesh, Dharwar types of rocks

are found in :

(1) The Krishna basin,

(2) The Godavari delta region
(3) The Kurnool region

(4) The Chittoor and Nellore region

temperature and high |

| 69)

108. ardaziiods’, domr SO Erodo el
Hbairg |romR) SOA G0d. @ dov e,
Sihetosy Fnod' KBS (Eo $o8 Do
Gotnod ;

107.

108.

109.

(1)
(2)
(3)
(4)

o0&y > Lg.}fj‘,[:al_é >Fost s Saar
(2Ires > Dodd > Forsd > 53
23065 > oS0 > 898 > (23mdies
|2572591eS > DOGY > SxaF > Forse

rESBiodD Dd Tod 593 Joa
FBHAS Sorgen (hehie Sy@den 2863,
Fe) WEPCE SN

(1)

(2)

(3)

(4)

S50 AEYS Dok airgnd) &
Srds S80S Igrdo  ad)
lsro@ren,

SN SIS w05 s
O HE SGS0 &) rosren.
DHoD  HYEIODGE @od @R
SGrdo O ®OF B &S
(Ex el LIVE

oIS  Hrads LS DAy
TEIOR0 ) [Brosren.

rEaBiods, Sferen :

(1)

(2)

(3)

(4)

206 |rodod’ E3DoT andode
edyen

®odaid Bcin AFh Ade
ARDOBO DSOS eihhen
&Sy oM ars’ B8 Srad afiod)
[ Ta TSV

©OBLB Hec H¥ Todedd
HDSHTEY evdhen

so|OHBFS, o dve Joen afd

EReng o :

(1) Eyar B ,
@) FAorsd ayrErodgo

(3) &&ryex [2roso

(4)

eyt SHOA TS (Frodo
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@} Match the following :
rﬁ.;;;j!f List-1T
idlife (Endang,
Sanctuary in Species) P
Andhra Pradesh)
A. Coringa I. Great Indian
- Bustard
. n ¢
o lswamm II. Jerdon’s Courser
C. Rollapadu II1. Saltwater Crocodile
D. 8ri IV. Tiger

Lankamalleswara

C_hnnue the correct answer using the codes
given below :

A B C D
(1 1I II m 1V
(2 1 I w1
/(3"3\J m 1 v o
(..
o m . 1 Il
@3}, Mateh the following
List-I Lise-II
(Hunters/! (Region)
Nomadic tribes) :
A. Pygmies I. East Africa
B. Masai [I. Congo basin
C. Semangs I11. Borneo
D. Punan IV, Malaysia

Ghmaethemnectmﬂruain!thewdﬂﬂ

given below :

A B c D
@ 1 I m W
2 0 1 w I1I-
3 m - I v 0
(4 I v I 11

| 6O )

110. (200 TR BSJ0004 :

arderl ardanql
(@O(SHBT S (woston
Sl parenes areben) 53‘&__
aoZairdea o)

A. 6ol L abhest

B. fbods 1. D084
|&erd 560

C. 3!;‘33‘{5& L ﬂl‘@_}:}dm;l

D. §0odsTis IV. O
Al aswhd Thod aadiriod i

HaroraR) Jochsod |
A B C D
(n 1 | m
@ I I ol
(3 m 1 v I
@ m w1 I
111. (2od &3 2 HOO0M :
arderl arderll
( Feoreby! ((aroso)
Sord Sfey)
A Dfzen 1 érdd) 8es
B, Suaron . soff Zne
C. narof) 1. 56,07
D. 338 V. oS
g
BHS s 1288 Fhod anariod >
BT oS08
A B C D
(1 I 1 m v
@ m I v MW
(g mr I v I
@ m w1 1
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@ Il:lEl.'I.tify the Thes

113,

(61)
INguistic diversity of ln;inﬂiﬂmnient on the
(1)

In 19 :
it s, 1
H-“':h(‘!hi and Si
]mguagest'

Austrie |
tﬁhﬂ] ETo

2 languages were
Bues in India.

ndhi are Indo-European

(20

v anguages are spoken by the
UPS in Jharkhand,
Dardiis Sino-Tibetan ——
Mﬂ‘h:h the fﬂﬂﬂﬁng :
List-1
(Slash and burn
agriculture)

4

List-II
(Practising region) |
L. Central America
II. Indonesia
II1. Central Africa
IV. Brazil

Milpa
Roca
D. Masole

Qwp

Choose the correct answer using the codes
given below :

A B C D
(1) 1 1 I v
(2) II I v I -«
(3) III I IV IT
(4) I v I i

Following are the regions of Iron and Steel
industry in the world :

o
L The Atlantic eoast region : The United
States

1. The Ural region : Russia

114.

[II. The Ruhr region : Eastern Europe
[V. The North-eastern and Central parts :
The United Kingdom
Which of the above are correctly matched ?
(1) [I,Mand 111
(2) I, IMand v
@ L I11 and IV
@ LIL 11l and IV
e ——

@

112, 2roadis 2 BOG0R FDI dIasN

foBocod :
1) 1961 2arer BEe 10500, roddiods

SabaFon.
§0y SHbcin OB 208 -crdhahS

2raaen.

e DE FAOD 30850 NO=S
HAarsen Arerdmd.

@ b 036 2f RS-SDOLS T

(2)

(3)

113. (208 o480 28H650 :

andarl ardarI1

(D% SgSrabo) (TR @oso)
A ool . DG @bls
B. sDeF) : II. ﬂﬂﬁﬁhﬂ?
c. 8s - 1. <o esps
D. SoFS v, @32
&S B35088 FHOD GHTR0D JIBS
JIrEE) JothSod:

A B C D

1 1 1 11} w
(2) 1 1 w 1mn
(3 Il I vV I
(4 M w1 1

18062 1HDoWoSN AwSN HOGEH G5
SIS (rose :

. etrodsE &
dodins oraren
CinGS (Froso : Sarg
%G0B |aroho : érth oy
SOy B0 s
TS Lol S

28 HTS) A DD HBT HOFOID ?
(1) LI o8cin I

(2) L1108 IV

@ 1, 11 00k TV

(4) 1,11, IIT SoBakn IV

larosho e 05

II1.
v armren
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115. Trans-Siberian Railway runs between the

117.

stations in Russia from :
(1} Moscow to Viadivestok

(2)
(3

Mozeow 10 Khabarovsk
St. Petersburg to Vladivoatok -

(4}  St. Petersburg to Khabarovsk

Consider the following states of India

L Punjab

II. Odisha

II1. Haryana
IV. Tamil Nadu

Which of the above states have relatively high
level of groundwater utilization ?

(1) I, IIand IOI
(2) LIIandIV
(3) ILIandIV
(4) LI MlandIV °

Identify the incorrect statement on Wheat

Crop cultivation in India :

(1) It is the gecond most important cereal

erop.

(2) It is a Rabi crop that requires a cool
Erowing season.

(3) It is chiefly grown in the Ganga-Satluj
plains.

Black soil region of the Decean is not
guitable for wheat cultivation. -

(4)

(62)

116.

1186.

117.

1)

o,
sargd Le.rn'}_}‘;gbﬂnﬁaaﬁ g8y & I
CTaTs Aotnod
1y SRy 2508 TOSTS S0%0
(g) SRy 00 8ok L0680 -
@ oo 5Byl wod & W
S5

ool besB0 08 DO,
SO0

(4}

osiosd & -od TIEOD

SBAE0500

[ Ho=d .

I zar

m oy

v, &g
rod’ 366" aric) zoro A0

2hE o DB ol 7

(1) 1,11 Sodchw IH

(2) 1,11 08d IV

@ I, 110 IV

(@) 111, 11 SeBcsn TV

réaticd Mg Dot iiin &)
B8 HBOS0A :

o Dodded @ed

00T e D04,

(1 S0P

ad DhhdS) sewod uf SO
TEI6R0 855858 6D How.

(2)

@ 28 Herdor fom-dhS Dowed

fhdod.

@) S555'0 S04 Fo |roso Fos

s eireo s,
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I ﬂ::i;::: following oil filds of Indin
I, Moran
1. Kalo]
Iv, Nﬂhﬂrkati}.ﬂ
:a::n[: :f the above oil fields are located in
1 and 111
(2) I Nandy
(3) I, I and v.
(4) I, II, 101 and 1v

118. In India, most of the jute mills are located in :

(1) Damodar basin

(2)  Subarnarekha basin
(3) Hugli basin -

(4} Brahmaputra basin

120. Consider the following erstwhile districts of

Andhra Pradesh :

L West Godavari
II. East Godavari
[1I. Visakhapatnam

IV. Srikakulam

In which of the above districts are coffee
plantations mainly existing in their agency

118, aroadiosn &

®

Bof SINE Tievey,

HBKdo0d

. Aafhd®

I e

m. $5&

V. SirdpeloR , "
258 BBy SIS i mod 20 odr)od
erary oo T

(1 1,1 Sodcin I

(@ 1,11 56ckw IV

(3) 1,1 Sn8cin IV

(4) 1,11, IIT SHBachw v

isSios, Trer S6% 2 even
258 AT 00:

(1) o3rsd 36 @roso

(2 A2ty 36 @rodo

(3 ool 58 |Drodo

(4)  (2IS SO |TFrodo

119.

120. o SHBTSD & (Bod b ATred

28fdotos -

I 5D Forsd

. &rth) Forsd

M. JaHesy0

IV, ;-js'ﬁuﬁo

2 DEYS) 2 B b Shen Wosor
B DB oS aryow ?

I, 1 SBaio 11
I1 o8din I Srebsh
I, TH Sodaln IV

(1)
(2)
(3)

areas 7
(1) 1,11 andIII
(2) Iand 111 only
3y 1,MlandIV
{11 and IV only -

(4)

(4) 11T So8oin IV Arésh




